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EEHE A O AR YOI HHZE  FZ(HR) =M o

4) 0{E H|7| M= O[HIE
O o & Hl==7| = OfH
- 80 o E2l= AZOIME (250, 2550 §): 54.9%
- 28 = HIOME (37.6%) > OkZF 22 O E (27.9%) >
* 20CH : OkZt 2] O|MIE (52.4%) > 250//25=0| (48.0%)

WA =200 w30C§ 40C] ™soCH cHel:

OF
=

- 20 -



Z4
=

0| Z==0{0}F & 22| o

A

5) M2UI3

ki
OH

=2

(12.6%) > =

8l
Ho
o7
oH

t

(14.3%) >

(32.7%) > ...

8.
Ho
17
OH

s

(44.3%) >

19 @ 12

>

18.8%
3

6.8%
-

22.5%
i

7.5%
NN

32.7%

W\\m

12.6%

44.3%

14.3%

-

J

J4

B8l
oK
Kl

of
Ho
J

g

ol
Ho

—_

jod
|
J
o
<+

ofl
Ho
[l
0%

ol
Ho

g S E=

re

6) M2UIS

21 21.5% >

H|o|X|/=

=2
a

2

Ho

23 8 7tH) 44.8% > AM=CH

=
=

2ol

-2
[

A0l O H3tE|0foF & AF4T
9] SNS(H|O| A%, QIAELT S) 44.3% > ST O|X| 24.5% > ..

O M2t3
W

#: %)

&
I.

ud

- ~

4
{0

t=[OfOF & &

ol
~NO

b

&
44.3%

SNS (H| O] A5,

<

!
@®
11—
© &
urr gy
or —
r
<1
ofl
Ho
T
ot
g

&
Mo

12.5%

24.5%

=S4 0|

21.5%
18.1%

SH|O|X|
/

oH
Ho

O

X

ol
Ho

O

M

A7Y

x|

=21

)

AEFIH S

o
[

=21

21,7tH))

=
=

(

- 21 -



(EH2l: X1=)

78.25

[
[
B &

~
~

b

&

74" 80.43

3

[

i

o
76.80

f
L 7FX| 7} QUEF 78.25

PN
- 7}X|7} QICH 78.25M, SH UL} 76.80H O 2 LIEIL

7| H%

CLRES

o

(EHRL: R1=)

2

pru
—

80.43
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=) K0 SR
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6.69%8 (-0.397)

|

o
=

- O E 7.08F (10F ) > MEUS

- O E 2CE e K}

(+0.217H)

o
oF

: 74 (+1.65%),

318, Chel: 7 /10F 2HE)

(Base: n

— ™~ o | o 7o) 0 —
5T | L R|IB  Q|v|S8|a e[S 8|3|R 8/ [A|H &S
Ko ||l o|o| HA| Q| m|o | A N|oc|o|loc| Q| a|a|loa| | o
N 1 [ [ 1 + + + + + [ 1 1 + 1 1 1 I 1
orl
_.._o) % < — 0| ©| n| o H ©o|l wo|l ol ;| on| 4| © ™~ < o)
T ™ N — M| MmN ~ | = S| ® | N| © | N[ ©| M M| S| e
o____l\ LN © ~ o ~ <4} LN ~ 0 ~ ~ ~ ~ LN [T) [Te) LN O
X
ul
=~ | ) < <t o | | o © o | o | < o | oy < | o — n | o
© M Q| N L | O] O X < | Y| H | O N Q| © ™~ ~N | <@
M( o0 o | N ~ O | n < 7o) n| N o | N ~N ~ ~ ~ ~ N
S
ﬂm|_u
o —
— c
B = 0 | = S
3 () 0 o (] . =
S © il ~ Q [} o
o | - = S - 8 @ S
= o0 Q. -— | O ~N o - o
=) | R S| % g | KT g =
g0 | Al % B3 AN | oo| O | K| 30 KF Il
= | M Y 3 of | M R | < N fr| <
= i = _ — | RO| _ uju JoI
o o o gl | oK
Al | 3| | = H
~ tHo oo Tl x| o & 10
o E T sl o lm|® _
N |_._..w|_ ny oo | =K < H oK
= = olo M| | o| =F B
Kir Kk BRI K| & o 0

I
=

A

(Product)

o
85

(Place)
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Ml 2% =AEa 29

-

1) ‘EZXI(Promotion) &=’ Z§}

E
)
o
'—\
©o
[

Hl7| ZSCEE . 74.47H- 3

) &
- MA 57| (74.45%) CHH| +0.027F @) Mea2 vs o=
) XY o= - 8M 7t (+1.65%F)
- 2E/BH(+147) - 2B (+267) - EA B (-2.31H)
-otE  H2E(17E) - et/ (-3.1F) (5 BT (™ H| )
- OH{EE ;231K
6) MEUSE &2 =5 8= Db 22 apsta 028
- 28101 HM 448% > =H|0|X| > _siztmel : -1.00H
(7) Z&tsliop & A& =Et - ROHYC :-2.86H

_ SNS 443% > =H|O|X| 24.5% >
- 20~30C} SNS, 40~50CH S O|X|

@) Ol& Al =72 2837 L EHE
- &7 2 (8043F) > FA/LE (75.57F) > W|=H(67.17F)
- B : 7HX| (78.25H) > EH=(76.807)

[HIA] 22t &2 SNS(H[o| A5, QIAEIA™M, 221, 7t §) &5 43t

O = =
E3|, 20~30Cf= SNSZ £33t A& hah

L.

2) ‘EHHAIE JHM

1) MESH Y2 Al 7t 2HS Ate : HAZ[ (714, Chbd F) 48.3%
(40CH 53.% > 30LCH 49.4% > 20CH 49.2% > 50LCH 32.7%)
) HEE
- EHOJA|AY 73 ®EAM : 44.93H™ (MW CjH] -3.97X)
- THOHAE 2te| el @ 67.927F (' CiH| -2.033)
- O Ao TEY 1 6533F (M ChH| -1.26%1)

4) Xl=2= (o) 329773 (HACHH| -1,8383)

[E3|, 2 HI =7} J4A Bk 30~40C4(7}F, At S4HHO| &2 JiM 9| ]

3) ‘MENMHE == L3t
(1) YEHMYS| OIX| S : 40.5% (T'F CHH| -04%)
A

[x'"?j] )glEHAE-'Do:'§| | EH'('D;}- %E ZD|'§I.% %6HA-I OJXIE 7H.A_-| rél_g_
(M OS] A|ZH0| AX|A LYEE SHAM o S2 M| KHASH 2 91A)

=
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M3Z. M5 =AL Z1}



H 3 M5 =AF 2t

1. M3CH
1) 42

OH

H O|SHEY X Ef=

=

—
——

O Mztisde = s dHEH 140 o # 0[¢'0] 222%= 7MY &5
- 1E0f B HOOJA (22.2%) > 'Q50| K HHE' (16.4%) > ...

O Q50| & B2 : 20C (31.2%) >30CH (11.2%) > 40CH (8.5%) > SOCH (8.1%)
‘1 0f| SHH O|AF : 40CH (29.0%) > 30CH (24.9%) >50CH (22.2%) > 20CH (14.0%)

(Base: ™A, n=800, Et2|: %)

[ 22.2% |
16.4%
14.7% o 15.2%
11.8% 13.7%
5.5%
0.6% -
1F=0) 174 ol 27374 6700 10 27430 54 0|4 AR
SHH oA BHHO|A GHEH O|&F  SHH O[A  THH O SHEH 0|4 TOof| &2

(Base: ™H|, TH2|: %)

Az | 1200 | 1420) 2~3742l| 6hgof | 1o | 2~4id |51 0]o] 250
SHEHO| & | OHHO| & BHAHO| & ([ DHHO| of | SHHO| 2 SHHO & M & E | A E
A 798 | 0.6 55 | 11.8 | 147 | 222 | 137 | 152 | 16.4
o Lt 387 | 03 6.2 | 127 | 134 | 220 | 140 | 165 | 15.0
<= of A 411 1.0 49 | 109 | 158 | 224 | 134 | 139 | 17.8
20ry 250 | 0.0 0.8 3.2 40 | 140 | 220 | 248 | 31.2
ooy 30ry 249 | 08 44 | 153 | 229 | 249 | 96 | 108 | 11.2
=< 40ty 200 | 0.0 8.0 | 225 | 18.0 | 29.0 | 9.5 4.5 8.5
50y 99 3.0 | 152 | 3.0 | 141 | 222 | 111 | 232 | 8.1
Ne 245 | 0.0 6.9 | 118 | 155 | 212 | 143 | 159 | 143
Hz=x|| ZH/omM | 480 | 0.8 52 | 135 | 16.3 | 246 | 133 | 148 | 11.5
x|ut 70 1.4 2.9 0.0 1.4 | 100 | 143 | 129 | 57.1
AHR =] 284 | 0.0 56 | 187 | 158 | 243 | 137 | 102 | 11.6
ot/ AH|AZ | 50 0.0 8.0 8.0 8.0 | 280 | 80 | 260 | 14.0
os/ojax | 16 6.3 0.0 6.3 | 125 | 438 | 188 | 00 | 125
o Xt of 62 16 | 177 | 48 | 210 | 194 | 129 | 129 | 97
OB Simms 159 | 1.9 6.3 | 145 | 208 | 245 | 88 | 11.3 | 11.9
St 118 | 0.0 0.0 4.2 4.2 6.8 | 263 | 28.0 | 305
x| 19 0.0 0.0 5.3 0.0 | 263 | 105 | 158 | 421
7| E 90 0.0 3.3 44 | 167 | 256 | 89 | 189 | 222
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Xk H X |
H 3% ME =A Bi}
- (=) 10 = ==
(1-1) 0| M2BLHS A 9HE CHd| H3t £ &2
O ANZUSH HE = XY 7Pé* E‘:OI HH QICHD M2H5= & &2
- ROl S2 Y Al M (129)) 43.8%, (1+229]) 55.1%
O B&E oM HEMEel s=23 Al 7|M SEE[E0| 7t =1
50CHe| 4% & 7O ZEl = A[A SEO| 36.7%= dUH=E =A LtEtE
<3d3d 3-1-2> o|™ MELSH WE CHH| H3t &3
(Base: 23| O]+ HFE 0|82, n=577, tt2|: %)
H(1Eg) (1229
33.1%
23.2% 19.49 &
8.0% % 7<y6 6% 4.9%7.1% /\
. R
CHYot 5= =M s 7|Ef HE Qs
HY3| SdAe2 /EEZIC}
ChFat
<1 3-1-2> O|H MBCHZE WE o] Hapy _ 129 7|E
(Base: 22| O| & BFE O| 82, CH2|: %)
. E}LE.?_IM% ’é*ZPFﬂ’.‘_I Clobst 52 ﬂélﬂ S E (HH‘-' ::OOI)
A|'Eﬂ'l' E"-;-I A| = = A| = *'“:"il E7'|E|2| El’ 7|E|' —/
0 Xlgs S| =° oFot EE"' Ct
FH| 576 438 22.2 8.0 1.7 49 194
i kA 282 411 24.8 7.8 14 5.0 19.9
°= of A 294 46.3 19.7 8.2 20 48 19.0
20CH 120 39.2 16.7 12.5 25 6.7 22.5
o 24 30LH 201 46.8 204 10.0 15 35 17.9
=< 40CH 176 46.0 216 34 1.1 5.7 222
50CH 79 38.0 36.7 6.3 2.5 3.8 12.7
e 175 434 211 8.6 17 5.1 20.0
HZ=X | A7l/oH 377 443 22.8 8.0 1.9 48 18.3
x| et 24 375 20.8 42 0.0 42 333
AR E] 229 450 22.7 5.7 22 3.9 20.5
ThOj /M H| AR 32 50.0 18.8 94 6.3 3.1 12.5
235/0|& 15 40.0 26.7 13.3 0.0 13.3 6.7
o0 pNRe: e 52 36.5 32.7 5.8 1.9 3.8 19.2
e TS ES=] 129 46.5 21.7 7.0 0.0 6.2 18.6
SHAY 51 431 19.6 11.8 0.0 5.9 19.6
oz 9 222 0.0 222 11.1 0.0 44.4
7| E} 59 40.7 18.6 136 17 5.1 20.3




Al 3% & XA} Za}

<H 3-1-3> O|H AM2C2d gt

Mo
o=
=

WBH 14229 7|E

(Base: 23| 0|4 W2 0|82, Etel: %)

TUHOLE B IR0 oy gg SH S B (s Bo)

A BENG| @A Tlpg Arelel | v w=sie/

AY | xig Cherst EE
A 577 551 48.5 232 6.6 7.1 331
My =y 282 553 46.8 245 8.2 74 323
oy 295 549 50.2 220 51 6.8 339
20CH 121 48.8 46.3 273 41 74 43.0
of 24 30CH 201 56.2 47.8 244 6.0 55 333
- 40CH 176 585 494 18.8 6.8 9.1 318
50CH 79 544 51.9 241 114 6.3 20.3
NE 176 534 51.7 250 5.7 8.0 30.7
HFEX| 471/ 377 56.8 47.5 225 7.2 6.6 334
Xt 24 417 417 20.8 4.2 83 458
AR Z] 229 55.5 46.3 201 9.2 74 34.5
oo/ A H| A E 32 65.6 438 281 94 31 344
=22}/0& 2 15 46.7 66.7 26.7 6.7 133 26.7
19 A 52 46.2 55.8 25.0 7.7 77 28.8
TS E=] 129 61.2 481 24.0 2.3 7.8 279
ok 52 53.8 53.8 269 0.0 5.8 38.5
23 9 222 333 333 222 0.0 55.6
7| E} 59 50.8 47.5 237 6.8 6.8 35.6
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O 75

[ ] I ol
=ot= =

gt (69.5%) >

H 3 M

RS (27.1%)

: 40CH (99.5%) > 30CH (87.9%) > 50CH (84.0%)
- 20Cf : AQI(55.2%) > 7}= (21.8%) // 50Lf : 7t= (84.0%)

SSYINE T

(Base: MA|, n=800,

ZAF Z1t

Ol : 7}= (69.7%) > Ol (20.6%)
5

>2 Kt (5.0%) >

T2 %)

o{2lo| &

1
1
1
1
i
! 69.5%
1
1
1
1
: 27.1%
: 15.7%
1
5 o =
1 o -
0 SH _;F_Egll'g SHEF O'I%
i 7t& i ool xF/s=E  EX gm/EHe 7|E B °© e &
<H 3-1-4> Ht3 =3slo]
(Base: TH|, THel: %)
ALl = A9l N/s=2 =X [stu/THN|  7|EE
A 796 69.7 206 59 19 15 04
. LA 386 67.9 212 57 3.1 1.6 0.5
= oA 410 715 20.0 6.1 0.7 15 0.2
20CH 248 2138 55.2 14.9 3.6 40 0.4
o 30cH 248 87.9 8.9 20 0.4 0.8 0.0
=< 40Ty 200 99.5 0.5 0.0 0.0 0.0 0.0
50CH 100 84.0 40 5.0 5.0 0.0 20
e 243 70.8 189 45 37 16 04
- A7|/91H 479 70.8 20.0 6.3 0.8 17 04
T x| et 71 60.6 296 8.5 14 0.0 0.0
ojAl/B2ct 3 333 333 0.0 333 0.0 0.0
AR 284 79.9 15.8 25 0.4 1.1 04
BHOY/ A H| A X 49 51.0 36.7 6.1 41 0.0 20
231/0|= % 17 58.8 353 5.9 0.0 0.0 0.0
o e 62 88.7 6.5 3.2 1.6 0.0 0.0
o= plESEST] 159 96.9 13 0.6 0.6 0.0 0.6
ShAY 116 155 50.9 207 6.0 6.9 0.0
x| 19 263 421 263 53 0.0 0.0
7|E} 90 67.8 244 4.4 2.2 1.1 0.0
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H 3 M5 =AF 2t

<E 3-1-5> W2 S¥Q _0f20| 5¢ o5

A 568 69.5 271 15.7

e Lt 274 66.8 263 19.3
°= oM 294 721 27.9 12.2
20CH 60 450 6.7 483

ol 30CH 225 88.0 18.2 49
40ty 199 724 50.3 0.0

50LH 84 310 10.7 58.3

e 173 717 272 13.9

S A71/01H 350 69.4 26.0 16.0
x| gt 44 61.4 36.4 20.5

Oj&/28 1 100.0 0.0 0.0

JNE=ES] 233 73.0 262 11.2

THOH/ M H| A X 25 76.0 28.0 16.0

235}/0)| & X 10 90.0 0.0 10.0

o XA 55 63.6 364 218
o= T SESC] 153 784 2838 7.8
Sl 22 136 9.1 773

=P 6 333 0.0 66.7

7|E} 64 57.8 313 20.3
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H 3 M5 =AF 2t

o]

2) & ol

=
oS

o2

2l_(2) &

Al
0
1

O MBUEZY Y2 Al BF 5 I8 301 (M 3.124)
- 291 (36.1%) > 39l (28.3%) > 491 (23.5%) > 591 O| A} (8.3%) >> 19l (3.8%)
O 20LCH 291(73.8%), 30CH 391(38.0%), 40CH 391(38.3%), S0CH 291(33.3%) & =S
- 500 = MOjXcR 12 B
[ 191(11.1%), 291(33.3%), 321(26.3%), 491(14.1%), 59! 0|4} (15.2%) ]

<17 3-1-4> %2 S¥l _ 5¥ol
{ (Base: ™A, n=800, Et2|: %)
36.1% mH :3.01Y

8.3%

5¢10[%

(Base: MK, TH2I: %)

At 19l 291 30l 49l 50lo| 4
Pabs| 784 38 36.1 28.3 235 8.3
. Lt 382 5.0 36.9 27.2 238 7.1
= oM 402 2.7 353 294 231 9.5
20CH 244 53 73.8 115 74 2.0
o 30cy 245 16 204 38.0 318 8.2
=° 40CH 196 1.0 10.2 38.3 37.8 12.8
50CH 99 11.1 33.3 26.3 14.1 15.2
Ne 241 5.4 35.3 30.3 20.7 8.3
o A7)/2AH 472 3.0 354 27.5 254 8.7
x| et 68 2.9 441 27.9 206 44
ojA/2 S g 3 333 333 0.0 0.0 333
APEE] 278 2.2 28.1 342 273 8.3
THO /A H| A X 50 8.0 54.0 10.0 14.0 14.0
Tgr/o:n == 16 6.3 4338 12,5 313 6.3
o paEe:! 61 33 29.5 311 246 11.5
o= roT 159 31 10.7 434 30.2 12.6
ShAY 116 5.2 75.9 95 9.5 0.0
o x| 17 5.9 58.8 11.8 235 0.0
7|E} 87 5.7 437 21.8 207 8.0
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H 3 M5 =AF 2t

3) LIS0[ MI2tx}

O M2 LFSO0| HOHRF : 20l (42.6%)
- 201(42.6%) > 7}E(39.7%) > ¢10l/XI1(16.1%) > ...
O dEUER 7IE =2 Hl82
- 20CH o Ql/%I1(43.4%), 30C £9I(51.6%), 40C 7+=(60.0%), 50CH 7+=
(57.6%)
<13 3-1-5> L}S0| H|QkX}

(Base: ™A, n=800, Et2|: %)

v

0,
42.6% 39.7%
16.1%
. 1.3% 0'4%
=0l = Hol/x+ Sk /EhA| 7| Ef
<H 3-1-7> L}E0| XX}
(Base: ™A, tH2I: %)
7t5 (X}, | HQIO[LE F1 (St 9l ThA|

A Ho| A A E|
MHT | B 222 xd)ol ug| Folag | @y |
A 796 426 39.7 16.1 13 04
M = 387 439 38.5 16.0 10 0.5
c= of M 409 413 40.8 16.1 15 0.2
20CH 249 39.8 12.0 43.4 40 0.8
o124 30cH 248 51.6 440 44 0.0 0.0
=< 40LH 200 39.5 60.0 0.5 0.0 0.0
50CH 99 333 57.6 8.1 0.0 1.0
Ne 244 414 439 135 1.2 0.0
=] A7|/91H 478 437 38.1 16.1 15 0.6
A x|t 71 38.0 36.6 254 0.0 0.0
oj&/28H 3 66.7 333 0.0 0.0 0.0
JNE=R| 283 452 431 11.0 04 04
ThOH /M H| A X 50 420 30.0 28.0 0.0 0.0
2351/0] & % 17 35.3 529 118 0.0 0.0
- AEE 61 426 475 938 0.0 0.0
oH T SESC] 159 440 55.3 06 0.0 0.0
ShAl 117 36.8 94 47.0 6.8 0.0
x| 19 36.8 21.1 421 0.0 0.0
7|E} 90 422 422 122 1.1 22




H 3% MEF A Ef

O NSt 74| LIS0|E {3 E AA : A2 (55.3%)
Q1S SE H|S : 2004(37.0%) << 40CH(62.1%), SO0CH(63.9%), 30CH(64.5%)
O DB E EA ;O30 E(55.3%) >> DRI PSHAH12.7%) > SHAZQ| > .
- O ZH = : 20~50CH 10 E}” 129
- 'O R =0 O] 2= : 20CH "etZ & &' 30CH/40C “nHd = g dpef 2

L=

<12l 3-1-6> L}S0| 18] A HE

(Base: A, n=800, TH%|: %)

v
>
Mo
flm}
Ok
[0
=
oot
=

- |

DY E EA (n=575)

oy IM=F o

o 7|I= 7|E}

20 M2 o
= ozg i

2l 2
=—

£
n
1=
g_l-
B
oh
o oy
0
)

<E 3-1-8> L}=0| I{ AL HAE

(Base: TH|, THI: %)

A s e
A 789 55.3 44.7

A =8 385 545 455
°C o g 404 55.9 441
20CH 246 37, 63.0

of 2 30c 248 64.5 355
- 40t 198 62.1 37.9
>0k 97 63.9 36.1

M2 242 59.5 40.5

HFEX| &2/ 475 539 46.1
ks 70 50.0 50.0

Od/7Sd 2 50.0 50.0

At A 282 63.5 365

LS 50 480 o

=2/ &7 17 647 353

Xl of AEH 62 58.1 419
- ABET 158 55.7 443
ohd 115 36.5 635

=A 19 316 684

215t 86 58.1 419
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H 3 M5 =AF 2t

(Base: A, THl: %)

sel ofwae | A sazw 2y mgas (15O sixsm sl

= - o 1=
A 575 55.3 12.7 9.6 3.7 21 21 19 12.7
i =M 264 57.2 13.6 9.5 34 0.8 15 04 13.6
c= oM 311 53.7 11.9 9.6 39 3.2 2.6 3.2 11.9
20Cy 159 64.2 4.4 15.7 5.7 0.0 13 0.6 8.2
ol 4 30CH 192 55.2 12.0 6.3 2.6 31 4.2 31 135
=< 40CH 152 43.4 23.7 7.2 3.3 3.3 13 2.6 15.1
50CH 72 61.1 9.7 9.7 2.8 14 0.0 0.0 15.3
MNE 182 53.8 9.3 13.7 44 0.5 4.4 27 11.0
Hz=x| 47|/ 349 57.6 14.3 7.2 34 3.2 11 17 115
NS 43 41.9 14.0 116 2.3 0.0 0.0 0.0 30.2
0| A/ 22 E 1 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
INE=RS 206 55.3 13.6 7.3 2.9 15 29 24 141
oHoj/ A H| A E| 35 62.9 29 14.3 2.9 0.0 0.0 0.0 17.1
231/0l=2 | 13 46.2 154 30.8 0.0 0.0 0.0 0.0 7.7
2o S 45 | 600 156 44 44 6.7 0.0 0.0 89
e IIEEE 122 443 14.8 49 41 49 4.1 49 18.0
S 75 65.3 53 18.7 8.0 0.0 0.0 0.0 2.7
2 15 66.7 0.0 13.3 0.0 0.0 6.7 0.0 13.3
7| E} 64 56.3 20.3 10.9 16 0.0 0.0 0.0 10.9
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H 3 M5 =AF 2t

5) 0|S =E
O AZX|O|AM MSLHZANK| 0| 83H= 0|5 =Lt XIHE (70.7%)
- Xp74E(70.7%) > X|SHE/H £(27.9%) >> EE(2.0%) >

O 20CH : X|StAE/H A(60.3%) > X}7+2(38.5%)
30CH/40CH/50CH : RH7HE > X|SHE/HA

<13 3-1-7> 0|5 2 (F53)

/ (Base: ™A, n=800, Et2|: %)

70.7%
27.9%
2.0% 0.5% 0.5% 0.3%
I T T T 1
X748 SHA/H EHA| N 7| E}
<E 3-1-10> 0|F Lt (FEST)
(Base: A, THel: %)
ol X
s | mg | RN Ew | oma | mEA | oo
A 793 70.7 279 2.0 0.5 0.5 0.3
Jee Lk 385 70.9 27.5 2.9 0.8 0.5 0.3
oM 408 70.6 28.2 1.2 0.2 0.5 0.2
20CH 247 38.5 60.3 2.8 1.2 04 04
ol 30CH 249 88.0 10.8 1.2 04 0.0 04
=< 40CH 199 86.9 13.6 0.5 0.0 0.5 0.0
50CH 98 75.5 184 51 0.0 2.0 0.0
ME 244 66.8 320 04 04 0.8 0.8
A 471/ 476 744 239 3.2 04 04 0.0
T x| gt 71 59.2 40.8 0.0 14 0.0 0.0
ojAl/= et 2 100.0 0.0 0.0 0.0 0.0 0.0
AR Z 284 824 16.5 04 04 0.7 04
ThOf/ M H| A R 50 54.0 46.0 0.0 0.0 0.0 0.0
231/0=%! 17 64.7 35.3 0.0 0.0 0.0 0.0
<1 O A 62 79.0 210 0.0 0.0 0.0 0.0
= s B 157 86.6 12.1 3.2 0.0 0.0 0.0
SHAH 117 20.5 76.1 51 17 0.9 0.9
=23 18 50.0 44 4 0.0 5.6 0.0 0.0
7| E} 88 80.7 18.2 45 0.0 11 0.0
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H 3F MF =AF Zaf
6) HS= AlZt
O MELHZ0| B A|ZF: 2~4A|ZHT0.8%) >> 4~6A|ZH1T.9%) >
O Az 2 AlH e o
* GA|ZF O| A} : 50TH(5.1%) * 4~6A|Zt : 40T} (27.5%)
* 2A|ZF O]Tt : 20T (11. 3%) > 50CH(10.2%) > 30CH(10.0%) > 4OEH 0%)

<12l 3-1-8> HE = Azt

(Base: A, THe|: %)
70.8%
17.9%
8.9%
2.4%
2A|Zt Ojgt 2~4A|Zt 4~6A| 7t 6A|Zt O] &
<E 3-1-11> HE = A|Zt
(Base: A, THel: %)
Ab| 5= 2A|ZE 0|8 | 2~4A|ZE 4~6A|ZF | 6A|ZF O] A
FH| 795 89 70.8 17.9 24
o kA 387 83 713 18.6 1.8
oM 408 9.6 70.3 17.2 29
20L| 248 11.3 72.2 14.5 2.0
o o4 30L| 249 10.0 73.5 141 24
=° 40Cy 200 40 7.0 27.5 15
50CH 98 10.2 68. 16.3 5.1
MNe 243 7.0 68.7 18.9 5.3
— Z71/21H 478 96 72.0 17.2 13
x| gt 71 9.9 704 19.7 0.0
OjAb/RSCt 3 333 66.7 0.0 0.0
AR E 283 6.0 70.0 23.0 11
ThOf /A H| A 50 16.0 62.0 20.0 2.0
235/0| & A 17 5.9 824 5.9 5.9
lon X 62 11.3 69.4 16.1 32
o= > SESE] 157 10.2 70.7 15.9 32
SHAY 116 7.8 74.1 14.7 34
ox| 19 15.8 73.7 10.5 0.0
7| E} 91 11.0 72.5 13.2 33
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H 3 M5 =AF 2t

7) AR Al

o
<

= M 2 A S, 25 MF Al EIS 5= 2E(97.5%)
- 'SEEE0| 975%2 2 LFEE 2| AZhS AHX[E

O &= HFAIZHIS " SETE0] 95.9%= 71 =5

<33 3-1-9> HF AlZk (HID)

7 EQE

97.5% 95.9%

i

; (Base: X[, n=800, EtQ|: %)

00t
ot

0.9% 0.8% 0.3% 1.5% 0.3% 0.3% 0.1% 1.4% 1.0% 0.1%

s= oE AlE atEt 23| =0[H S /HAL 7|E}
<E 3-1-12> 25 HF AlZt (HIS)
(Base: T Af|, £H2I: %)

as| 58wy | ygow |SEEM) UEOL (AT e

A 787 97.5 0.9 0.3 0.3 0.1 1.0

. o 382 97.1 13 0.3 0.3 0.3 0.8

c= GRS 405 97.8 0.5 0.2 0.2 0.0 1.2

20Cy 245 99.2 0.0 0.0 04 0.0 04

o124 3oLy 248 98.4 04 04 04 0.0 04

=° 40CH 197 97.5 15 0.0 0.0 0.0 1.0

50CH 97 90.7 31 1.0 0.0 1.0 41

e 242 97.1 12 0.4 0.0 0.0 1.2

- A7|/91H 472 97.7 0.8 0.2 0.2 0.0 11

x|t 70 98.6 0.0 0.0 14 0.0 0.0

ojAt/=ect 3 66.7 0.0 0.0 0.0 333 0.0

AR 282 97.2 11 0.0 0.7 0.0 11

THON/MH|AZ] | 48 97.9 0.0 0.0 0.0 0.0 2.1

§+/01|Axl 16 93.8 0.0 0.0 0.0 0.0 6.3

o Xy 61 98.4 0.0 16 0.0 0.0 0.0

e 7w =T 157 96.2 13 0.6 0.0 0.0 1.9

SHA 117 100.0 0.0 0.0 0.0 0.0 0.0

=F 18 100.0 0.0 0.0 0.0 0.0 0.0

7|E} 88 9.6 23 0.0 0.0 11 0.0
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H 3 M5 =AF 2t

(Base: T |, £H2I: %)

=2 2 x 3l

s |58 ow| SRS (uzaw) Yo (ZDIL e

A 736 95.9 15 0.8 0.3 14 0.1

.- LA 362 95.9 11 11 0.3 17 0.0
c= o 374 96.0 1.9 0.5 0.3 1.1 0.3
20CH 233 97.0 13 0.0 0.4 13 0.0

o124 30CH 238 98.3 0.4 0.0 0.4 0.8 0.0
=° 40} 182 94.0 38 0.0 0.0 16 0.5
50CH 83 90.4 0.0 7.2 0.0 24 0.0

Ne 228 9.5 13 0.4 0.0 13 04

A= A7)/91H 437 96.3 16 11 0.2 0.7 0.0
x| gt 68 926 15 0.0 15 44 0.0

OjAt/2S gt 3 66.7 0.0 0.0 0.0 333 0.0

AFEE 265 9.2 0.8 0.8 0.8 15 0.0

ohof/MH| AR | 47 95.7 2.1 0.0 0.0 2.1 0.0

231/0 &= 14 100.0 0.0 0.0 0.0 0.0 0.0

o X 55 98.2 0.0 0.0 0.0 18 0.0
e pIYSESZ] 142 94.4 2.8 14 0.0 0.7 0.7
SHAY 112 96.4 27 0.0 0.0 0.9 0.0

2 x| 18 88.9 0.0 56 0.0 56 0.0

7|E} 83 96.4 12 12 0.0 12 0.0
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H 3 M5 =AF 2t

8) XI= HIE

O MEUS HolM XIZet 3% : 2~30H21(24.4%)
- 2~30t(24.4%) > 5~60HR(23.5%) >3~40HA(17.6%) > 1~20H >

O Ha X|E2W: 329772 (M 34,8159 CH| -1,8382)
- 40CH(39,5172l) > 50CH(36,3762) > 30CH(34,069%) > 20LCH(25,327L)

<12 3-1-10> X|Z H| 2

o (Base: ™A, n=800, Et2|: %)
m 32,9778

24.4% 23.5%
16.8% 17.6%
10.5%

4.9% I . -
= | | | | o
123 12HR~ 20H3A~ 30HA~ 42H3~ 52HA~ 62H3
of g 20t 30t 40tg] 50+ 6012l 0| A

<H 3-1-14> X|= H|E

(Base: ™A, TH2[: %)

Apze | 1880|1908l | 20tel. | 3ol | dotel~ | soral~ | eglal | Wa

o9t | 29b9l | 39kel | 4mkgl | sokel | emkel | oA | (R))

A 788 49 16.8 244 17.6 10.5 235 2.3 32,977

a1 = 385 55 17.1 23.6 179 9.6 23.6 2.6 33,061
c= oo 403 45 164 25.1 174 114 233 2.0 32,897
20CH 247 8.1 29.6 26.7 13.0 11.3 11.3 0.0 25,327

ol 30CH 249 3.6 11.2 23.3 24.1 124 24.9 04 34,069
=° 40CH 199 0.0 116 24.6 15.6 6.5 36.7 5.0 39,517
S50CH 93 10.8 8.6 204 17.2 11.8 23.7 7.5 36,376

NS 243 45 20.6 26.3 189 8.6 18.1 29 30,528

Az Ad7|/e1H: 472 5.7 15.0 22.7 17.2 114 25.8 21 34,167
x| gt 70 14 15.7 28.6 171 114 25.7 0.0 31,800

OjA/2 S 3 0.0 0.0 333 0.0 0.0 333 333 71,667

NS 280 29 132 23.6 189 111 28.6 18 35,202
THOj/ A H| A Z 50 8.0 18.0 16.0 16.0 14.0 24.0 4.0 33,150
—.—2|-/01|*7‘I 17 59 17.6 235 23.5 17.6 11.8 0.0 30,865

1 Of A 61 49 6.6 29.5 19.7 9.8 23.0 6.6 36,631
e P TSESI= 156 3.8 115 20.5 21.8 10.3 28.8 3.2 37,026
SHA 117 111 427 28.2 51 6.0 6.8 0.0 20,173

2=l 19 10.5 211 26.3 53 211 10.5 53 28,368

7|E} 88 23 8.0 29.5 239 10.2 25.0 11 34,517
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H 3 M5 =AF 2t

9) MELISH YE ol

O A HIOIII A & M35 HS 2 ESHe Ol7  AHE&/FH SHE|7F BEOHA
- 27{2|(29.5%) > (HEDE MOAQ45%) > 7L HE| > Mt AxE >
O 20T : HEDE & A(32.0%), 300 : HEX|QF 7HIHE 7 2(35.2%)
40CH - =H =H2| (36.5%), 500y : =H =HE2|(31.0%) = Lizus H2d
(31.0%)

<% 3-1-11> MELISH L& Ol7 (5=

0l0

=)

(Base: M A|, n=800, EtQ|: %)
m1a9] w102&9

295 %
N\

9 (0]
B

9%
2085%  530.0%  2.9%4% 2.0%°%

=12 bk M#Est Xl 3:Ed £20/8 7|E} oiCt
THOFA e U= 227|187t
<H 3-1-15> MELSE & o|7 _ 19 7|=
(Base: A, THe|: %)
2 == =
AR E;",q a5 x| 2 72 | YBEIH X|elo 0|2 = 7|} EH3|
TSt ek | mol = | ZH7HH | MBsHM | FHo 2| S 2 0 etk
2|7t @& | do| £ ol A] 2|/487}t
OfA OfA ™ 7} £0t
A 800 | 295 24.5 244 14.5 2.0 0.3 29 2.0
o Lk 389 | 27.2 27.8 26.2 11.8 2.1 0.5 18 26
c= ;S 411 31.6 214 22.6 17.0 1.9 0.0 39 1.5
20CH 250 | 26.8 32.0 124 19.2 32 04 2.8 3.2
of 24 30LCH 250 | 26.0 18.4 35.2 13.6 1.6 0.0 40 12
=< 40C 200 | 36.5 19.5 26.5 13.0 0.5 0.0 2.5 15
50LCH 100 | 31.0 31.0 230 8.0 3.0 1.0 1.0 2.0
N 245 30.6 26.5 24.1 147 16 0.0 16 0.8
] A71/21H 481 | 272 24.1 274 13.7 15 0.2 3.5 2.3
T x| et 71 40.8 211 2.8 19.7 7.0 14 2.8 42
OjAl/2oct 3 33.3 0.0 66.7 0.0 0.0 0.0 0.0 0.0
JNI=E 284 | 317 20.8 27.5 14.8 14 04 2.5 11
mhof/AMH|A Xl | 50 28.0 38.0 16.0 10.0 2.0 0.0 40 2.0
2351/0f| & & 17 412 17.6 235 11.8 0.0 0.0 0.0 5.9
- e A 62 24.2 35.5 25.8 8.1 32 0.0 0.0 3.2
e iy s B 159 | 277 15.1 314 17.0 13 0.0 6.9 0.6
SHA 118 | 220 314 15.3 229 42 0.8 0.8 2.5
ox| 19 421 316 53 10.5 5.3 0.0 5.3 0.0
7| E} 91 35.2 28.6 22.0 6.6 11 0.0 11 5.5




H 3 M5 =AF 2t

<E 3-1-16> MSOIBY L2 0|9 _1+229 7]

MM

(Base: ™A, THl: %)

H d s E| ;< 221/
B/zu | 2 o)g RN stn = s
AES = 2|8 M o HE| |YE=7t X[2lo| olg = 7|E} E45|
T2 e | Nor = | 7H 7k (MEsh M | Rz Jre oict
2|7} & | do| & oM 71/47}
ObM | OfM | T 7t Sot
Pbs| 800 | 564 366 394 40.9 45 2.0 54 6.9
. Y| 389 | 545 37.0 39.8 40.1 6.2 18 49 8.2
c= oA 411 | 582 363 389 416 2.9 2.2 5.8 5.6
20CH 250 | 464 48.8 248 476 8.0 2.8 4.4 112
o2 30CH 250 | 576 272 51.2 412 36 12 56 56
=° 40CH 200 | 625 29.0 445 39.5 2.0 2.0 75 40
50CH 100 | 66.0 450 36.0 26.0 30 2.0 30 5.0
N2 245 | 612 40.8 388 40.0 33 12 33 53
o A7|/01H 481 | 541 353 445 40.1 40 2.1 6.0 6.9
a x| et 71 56.3 29.6 5.6 493 12.7 42 8.5 12.7
ojAl/B2ct 3 333 66.7 66.7 333 0.0 0.0 0.0 0.0
=] 284 | 588 310 433 423 39 25 46 49
THON/MH[ AR | 50 56.0 50.0 340 320 20 40 6.0 12.0
235}/0| 2 17 70.6 41.2 353 35.3 0.0 0.0 59 59
o pge: Ll 62 516 419 50.0 371 48 0.0 3.2 48
e pIESESC] 159 | 604 245 465 39.0 1.9 25 8.8 5.0
ShAY 118 | 415 52.5 246 54.2 93 25 17 110
ax| 19 526 526 263 263 15.8 0.0 105 10.5
7|E} 91 626 396 33.0 341 44 0.0 6.6 8.8
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H 3 M5 =AF 2t

10) SE3 2| &7 Y=l

rir
(o}
5

O NEUB0M S2e 9 B2 Waste A NSUEZ(AL1%)
- NSUE@AL1%) > O{RI0|S2RQR7.9%) > T45HZ(251%) >

O 20C} : MSH=(53.5%), 30CH : SHE(36.6%) > HEI0| =& (35.4%)
40CH : ME2EHE(3B9.2%) > HEI0|s=&(34.5%), 50} : = ==81Z(34.3%)

<17 3-1-12> S24 o 7 Y= ¥4 (58 8Y)

J (Base: ™A, n=800, t+2|: %)

41.1%

[y

[
27.9% 251%

15.3%
8% )
I . ° 8.1% 5.5% 5.8%

glof =5 g IZH HOotE o888 7IE._“—fEf A 7| Ef

(Base: ™A, THel: %)

Bl 0L 7} .
.| Meu s o ses | TEE AWM yag ey | o
s | MEHR S HBZHE | gz | = gy | HE 29 et
= | o= E“ =2 In] o (=] EI‘ —©°
= B | 9
A 777 411 279 251 153 11.8 8.5 8.1 55 5.8
a1 =M 381 39.9 24.1 255 144 9.7 9.2 7.3 5.8 5.8
c= of M 396 422 316 247 16.2 13.9 7.8 8.8 53 5.8
20CH 241 53.5 174 22.8 137 9.1 7.5 4.6 7.1 46
of 4 30CH 243 36.6 35.4 22.2 144 13.2 33 9.5 49 6.2
=< 40CH 194 39.2 34.5 26.8 124 10.3 7.2 129 36 7.2
50CH 99 253 22.2 34.3 27.3 18.2 26.3 4.0 7.1 51
S 234 42.7 27.8 24.8 154 13.7 10.3 8.5 5.6 38
4a71/1H- 471 41.0 289 236 15.9 11.9 8.3 8.3 59 6.4
74z
x| gt 69 34.8 217 34.8 101 5.8 43 5.8 29 8.7
oA/ 22 3 66.7 333 66.7 333 0.0 0.0 0.0 0.0 0.0
AR E] 275 37.5 30.9 247 16.0 13.8 5.5 95 47 5.8
oHoj/ MY AE | 49 36.7 24.5 26.5 10.2 10.2 10.2 8.2 10.2 41
—.—2|-/0:||*7(I 17 294 11.8 11.8 41.2 294 11.8 11.8 235 59
101 PN %] 62 38.7 24.2 30.6 17.7 12.9 226 8.1 6.5 8.1
e 7|-7g—,——,— 152 36.2 421 26.3 125 105 7.2 118 46 7.2
Sl 114 60.5 15.8 20.2 12.3 10.5 6.1 2.6 53 53
X 19 421 10.5 316 211 15.8 53 0.0 10.5 0.0
7|E} 89 41.6 213 27.0 16.9 5.6 124 5.6 2.2 4.5
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H 3 M5 =AF 2t

11) MEjMHS| _ (1) QUX|=
O MEUSHNM 25t s==2 dEfEd2| AKX = : 40.5%
- OIX| = : 30CH(45.5%), 40CH(45.5%) > 50C{(42.7%) > 20CH(30.7%)
O QX =7t &2 & : 04X}, 30~40Lf, A&, AHRE|

<18 3-1-13> MEjAMHS| QK| =

(Base: ™A, n=800, tt2|: %)

e (41.7%) > = (39.4%)
30~40CH(45.5%) > 50Cf > ...
M2(42.9%) > H47|/01H > ..

AFRXI(50.0%) > 7FE=H >

<H 3-1-18> MEjAIT3| CIX| &

(Base: A, THe|: %)

Al 21 Uct BEC}
A 772 40.5 59.5
My =2 376 394 60.6
od 396 417 583
20CH 241 30.7 69.3
otz 30cH 244 45.5 54.5
40rH 191 45.5 54.5
50CH 9% 42.7 57.3
Ne 238 429 57.1
HE=x| 47|/e1H 463 40.8 59.2
x| 68 294 70.6
0&/23H 3 66.7 333
AR E| 272 452 54.8
ThOj /A H| AR 50 50.0 50.0
=2/ & 16 438 56.3
o Xt 61 36.1 63.9
prSESTE 152 46.1 53.9
ShAl 113 26.5 735
=R | 18 16.7 833
7|E} 90 36.7 63.3
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H 3 M5 =AF 2t

11) Yej&H3| _ (2) 28t 38

MERM Y| QIX|XHn=351)Q & HH : 67.2%
- B A : 40LH(78.5%) > 50CH(76.6%) > 30LH(61.7%) > 20CH(57.8%)

O 2FAHO0| U= 5= AFRH25.4%)
AFRH25.4%) > 2 20[(23.1%) > H5(21.1%) > 7| 21(19.9%) > A7|2[(17.1%)
<17 3-1-14> MEHTI BY 2 (55 8T

(Base: HEHEF=| QAX|R}, n=351, EHe|: %)

/ 32.8%

254% .. :
T2L1%  j90y
17.1%
8.5%
4.0% 2.8%
T T T T - T - T 1
AR 2 = Z1gl A7zl 8% 0oz @sol FHelE
<iE 3-1-18> MEf HH3| 2 Fd (585 8¢

(Base: ‘HEN 2T QAX|Xt, TR %)
— AS
Al | AEXE (Z>ol| & | 71 | An2l | B8 |00 | fs0l| So
HADT
A 351 | 254 | 231 | 211 | 199 | 171 | 85 | 40 | 28 | 328
e LA 167 | 257 | 251 | 204 | 198 | 186 | 72 | 36 | 36 | 305
c= of N 184 | 250 | 212 | 217 | 201 | 158 | 98 | 43 | 22 | 348
20cy 83 | 229 | 169 | 253 | 84 | 133 | 24 | 36 | 24 | 422
o 30cY 128 | 203 | 234 | 172 | 164 | 156 | 31 | 23 | 08 | 383
=< 40rH 93 | 301 | 247 | 258 | 280 | 204 | 151 | 65 | 43 | 215
50CH 47 | 340 | 298 | 149 | 340 | 213 | 213 | 43 | 64 | 234
Ne 111 | 261 | 288 | 198 | 243 | 207 | 81 | 63 | 45 | 297
Jyzx) B2/ | 215 | 265 | 214 | 219 | 186 | 153 | 93 | 33 | 19 | 335
T x|t 23 | 130 | 130 | 217 | 130 | 130 | 43 | 00 | 43 | 391
OjA/2SE | 2 00 | 00 | 00 | 00 | 500 | 00 | 00 | 00 | 500
JNEES 136 | 235 | 213 | 184 | 199 | 169 | 51 | 29 | 37 | 331
ThOj/MB|AR | 25 | 200 | 280 | 240 | 120 | 360 | 120 | 120 | 80 | 280
23/0jzx | 10 | 100 | 200 | 00 | 300 | 100 | 100 | 00 | 00 | 400
o X 27 | 333 | 148 | 148 | 296 | 111 | 74 | 00 | 00 | 296
TE L yzEs 75 | 333 | 293 | 267 | 267 | 213 | 147 | 53 | 27 | 240
St 35 | 229 | 257 | 371 | 57 57 | 29 | 57 | 00 | 400
2% 5 | 200 | 200 | 200 | 00 | 00 [ 200 | 00 | 00 | 400
7|E 38 | 211 | 184 | 132 | 184 | 158 | 105 | 26 | 26 | 447
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H 3 M5 =AF 2t

11) YEfMES] _ (3) sHMeot

O SEfd 8= HE - (n=225) SO M 2 = 18.7%
- 20CH(30.4%) > 50CH(24.2%) > 30CH(16.5%) > 40CH(10.4%)

O JhMuroh: A|ZHE T (25.8%) > ATAIAT(213%) > KH0I(16.0%) >

<38 3-1-14> e dE2| 7| Wot (55 &)
(Base: ME{-MH3| 23 AKX} n=225, THY: %)

JHA 0|74 - 81.3%

A
[ |
25.8%
21.3%
16.0% 18.7%
) 14.2%
4.0%
NZHHE A A g0y ols= N g 7Y B
<H 3-1-18> MEf 43| 74 M ¥t (55 3B)
(Base: MEH LS| TR ZER, Y- %)
(sl Al[ ey |
ziol 2] o] Azt gl B
siM) of2 | AESOl | ol o S| £ e i
sl (WD AL 20 | o was | Z 222 e | wms
o= =20 SEOH i 2 xdlg| | = ;g'o} T}
sloll &7t | # olop| | = DVE | o et
#4008 827 AR
o Sz ® S0t 2
A 225 25.8 213 16.0 142 4.0 18.7
o A 108 204 185 148 176 46 24.1
°= oo 117 30.8 239 171 111 34 13.7
20CH 46 23.9 8.7 23.9 13.0 0.0 30.4
of 24 30CH 79 34.2 215 12.7 12.7 25 16.5
= 40CH 67 224 284 149 134 104 10.4
50CH 33 15.2 24.2 15.2 21.2 0.0 24.2
ME 79 24.1 215 17.7 114 51 20.3
=X A7)/ 134 26.9 20.9 164 15.7 3.0 17.2
T x| gt 11 27.3 27.3 0.0 9.1 9.1 27.3
0| AM/Z22EH 1 0.0 0.0 0.0 100.0 0.0 0.0
A2 Z 87 23.0 20.7 16.1 17.2 4.6 184
THOj/ A H[ AR 18 22.2 22.2 27.8 0.0 5.6 222
231/0| == 6 333 33.3 0.0 16.7 0.0 16.7
x| o1 oA 17 17.6 294 11.8 235 0.0 17.6
H e 54 29.6 204 22.2 74 37 16.7
St 20 35.0 10.0 10.0 15.0 0.0 30.0
22X 2 50.0 50.0 0.0 0.0 0.0 0.0
7| E} 21 23.8 23.8 4.8 23.8 9.5 143




H 3 M5 =AF 2t

2. MSUSH 0|8 THFE

1) 824

O

O

MM CHsH MEtA ot= ;77487

—_ = =

- 20CH(79.007) > 50LCH(78.837F) > 40CH(77.187) > 30LCH(75.627)
=
=

YN0 fot S2 BEL - Q0| S(80.13F) > [HE WE(80.26F)
> ZAFEHT5.03]) > OFHLYK|A|(77.68H) > OHLH/Z E (69.017K)

<13 3-2-1> H2M

(Base: Zf A|"/=Ct 0|8 AYEX}, EHRf: %, &)

77.48 69.01 77.68 80.26 75.03 80.13

o

CESEbEbE]
ettty

2yt
L -
:1,-‘.+

=01 =L

PR
ek

=
48

i g
CHE
[ N - 41.9% 43.8% K| YLt
) \\“ ) 2 3 ] B MG O"X| &t
S 0,99 Rsa% BN g @_q% R 3.9% mw%
Hery otl/8E  AUMA HiZns  FAE AU ols
<H 3-2-1> HIA Wy aEE
(Base: TH|, Thel: %, &)
o " s o
A% | oty | 3wt =s | R oy “ag | aoow
A 786 309 | 497 18.1 0.9 04 0.0 77.48
V= = 383 30.0 48.6 19.8 13 0.3 0.0 76.70
°= o] 403 31.8 50.9 16.4 0.5 0.5 0.0 78.23
20CH 250 356 | 460 17.6 0.4 0.4 0.0 79.00
o124 30cH 243 25.5 52.7 20.6 12 0.0 0.0 75.62
= 40cy 195 29.7 513 174 1.0 0.5 0.0 77.18
50cH 98 347 | 490 143 10 1.0 0.0 78.83
Mg 241 320 | 485 18.7 0.8 0.0 0.0 77.90
R 87|/ 471 29.5 51.0 183 0.8 0.4 0.0 77.07
x|t 71 366 | 45.1 15.5 14 14 0.0 78.52
OjA/2 S8 3 333 66.7 0.0 0.0 0.0 0.0 83.33
AP 277 29.6 51.6 15.9 22 0.7 0.0 76.81
THoj/ M H| A Z 50 280 | 440 26.0 0.0 20 0.0 74.00
23}/0] &% 17 471 | 412 11.8 0.0 0.0 0.0 83.82
o e 62 274 | 4638 25.8 0.0 0.0 0.0 75.40
e IR 155 303 523 174 0.0 0.0 0.0 78.23
Sl 118 339 50.0 16.1 0.0 0.0 0.0 79.45
2% 19 263 57.9 158 0.0 0.0 0.0 77.63
7|Et 88 341 | 443 20.5 11 0.0 0.0 77.84
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H 3 M5 =AF 2t

(Base: A, Tt %, &)

Yy - -

A oj x| o|gergl/| Hi

MASF | g | A8 =2 ) g | 3B ezac| qoom)
| 791 21.1 384 30.0 5.6 1.0 3.9 69.01
s LA 383 22.7 37.1 27.7 6.3 1.0 5.2 69.56
c= oM 408 19.6 39.7 321 49 1.0 27 68.51
20CH 250 22.0 40.4 26.8 6.4 1.2 3.2 69.52
o o4 30Cy 245 18.0 40.4 31.8 5.7 04 3.7 68.11
i 40CH 198 21.2 384 30.3 4.0 2.0 40 68.95
50CH 98 26.5 28.6 327 6.1 0.0 6.1 70.11
MNe 243 20.2 37.0 28.0 91 0.4 5.3 67.83
K] AI|/9H 474 20.7 386 31.9 44 1.1 34 69.00
T L 71 26.8 40.8 254 14 2.8 2.8 7246
n[pPNyA=RA=} 3 333 66.7 0.0 0.0 0.0 0.0 83.33
JNE=E 279 21.5 409 28.7 43 14 3.2 69.81
ThOj/MH| AR | 50 16.0 34.0 30.0 12.0 2.0 6.0 63.30
235}/0| & & 17 23.5 412 29.4 0.0 0.0 5.9 7344
x| Lo 61 24.6 29.5 344 33 0.0 8.2 70.54
T SES=] 158 16.5 348 386 5.1 0.6 4.4 66.06
ShAY 118 22.0 415 254 6.8 0.8 34 69.96
=By 19 10.5 421 316 15.8 0.0 0.0 61.84
7| E} 89 29.2 404 21.3 5.6 1.1 22 73.28

<HE 3-2-3> H/d _ 5X|T S QLM A|
(Base: ™A, THel: %, &)
= ’ s |o|gete| o
M+ | qgy | awe | ms | g | dwm seem (G,
oiCh Ct

A 789 327 45.0 16.5 2.5 0.3 3.0 77.68

o A 383 33.2 446 15.9 2.6 0.5 3.1 77.70
c= oA 406 323 453 17.0 2.5 0.0 3.0 77.66
20cy 250 37.2 43.2 13.2 2.8 0.0 3.6 79.77

of 24 30Cy 246 244 50.4 183 3.3 0.4 3.3 74.58
=e 40CH 197 315 46.2 17.8 1.5 0.0 3.0 77.75
50CH 9% 448 333 17.7 2.1 1.0 1.0 80.00

N 657 33.2 45.1 16.6 24 0.2 2.6 77.89
HE 2 24 K oetg 130 30.8 44.6 15.4 3.1 0.8 5.4 76.83
Oj A/ 2 S et 2 0.0 50.0 50.0 0.0 0.0 0.0 62.50

Me 242 35.5 421 15.3 4.1 0.0 2.9 78.09
HR Z7|/91% 473 313 46.7 16.3 2.1 0.2 34 77.63
T x|t 71 31.0 437 22.5 0.0 14 14 76.07
OjAl/2 S et 3 66.7 333 0.0 0.0 0.0 0.0 91.67

NEES 278 30.6 46.4 17.6 2.2 0.7 2.5 76.66

Thojf/ M H| A R 50 32.0 38.0 20.0 6.0 0.0 4.0 75.00

23}/0| & Al 17 29.4 58.8 11.8 0.0 0.0 0.0 79.41

o1 X ol 60 40.0 45.0 10.0 1.7 0.0 3.3 81.90
T e 157 29.9 427 21.0 1.9 0.0 45 76.33
S 118 33.1 50.0 11.0 34 0.0 2.5 78.91

=By 19 36.8 26.3 31.6 5.3 0.0 0.0 73.68

7|E} 90 38.9 433 12.2 2.2 0.0 3.3 80.75
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H 3 M5 =AF 2t

- O
(Base: CH =& O| & ZEXL B

2] l: %, &)
L | ome | g e | 23x | 3% logos| mz

MAF | ag | 2B =2 ] T | SEH | mE| oom)

A 781 37.8 38.5 133 18 0.5 8.1 80.26

A =24 377 39.8 374 11.9 24 0.5 8.0 80.84
°= oM 404 359 39.6 14.6 12 0.5 8.2 79.72
20CH 250 464 35.6 11.2 0.8 12 4.8 82.88

ol 24 30CH 243 28.0 424 16.9 12 0.0 115 7744
=< 40LCH 195 33.3 43.6 10.8 31 0.5 8.7 79.07
50CH 93 49.5 25.8 15.1 3.2 0.0 6.5 8247
ME 239 41.0 38.1 13.8 1.7 04 5.0 80.95
A= 4a7|/e1A 469 36.5 39.0 12.6 17 0.6 9.6 80.13
NS 70 357 35.7 171 29 0.0 8.6 78.52
0| A/ 22 3 333 66.7 0.0 0.0 0.0 0.0 83.33

AR ZE 275 335 41.5 13.8 1.8 0.7 8.7 78.78

THOj/ M H| AR 50 34.0 36.0 24.0 2.0 2.0 2.0 75.00
231/0=2l 17 47.1 353 17.6 0.0 0.0 0.0 82.35

e I 57 36.8 404 8.8 3.5 0.0 10.5 80.88
e TS 156 34.0 353 17.3 0.6 0.0 12.8 7941
Al 118 51.7 38.1 8.5 0.8 0.0 0.8 85.47
B2 19 26.3 52.6 10.5 0.0 0.0 10.5 79.41
7|E} 89 427 337 7.9 45 11 10.1 81.25

<E 3-2-5> YA FAE 0|8 M|y

(Base: =X 0|8 ZEAL, Bl %, H)
L me | . 2mx | S |oigers| ma

s | ob | e =8 | gl awn OREE GR,

LS

A 785 30.3 38.9 209 3.7 0.6 5.6 75.03
A B = 381 318 37.3 19.7 4.7 0.8 5.8 75.07
°= oA 404 29.0 40.3 22.0 2.7 0.5 54 75.00
20LCH 249 29.7 337 19.7 24 0.0 14.5 76.53
of a4 30CH 245 26.9 43.3 224 4.9 12 12 72.73
=° 40LCH 197 315 40.1 223 41 0.5 15 74.87
50CH 94 383 38.3 17.0 3.2 11 21 77.99
N 241 34.0 357 19.5 12 04 9.1 77.97
Hz=x| Z271/21H 470 28.1 411 219 4.3 0.6 4.0 73.89
x| gt 71 31.0 35.2 19.7 8.5 14 4.2 7243
O M/22E 3 66.7 333 0.0 0.0 0.0 0.0 91.67
AR Z 277 289 44.8 17.7 51 11 2.5 74.44
oHOj/ A H| A E 50 24.0 34.0 28.0 20 0.0 12.0 7273
23}/0| =2l 17 47.1 11.8 353 5.9 0.0 0.0 75.00
x| o1 A 59 32.2 424 16.9 34 0.0 51 77.23
o= =R 157 31.2 38.2 26.8 25 0.0 13 74.84
ShAl 118 254 32.2 21.2 0.8 0.8 19.5 75.00
23X 18 27.8 27.8 27.8 5.6 0.0 111 71.88
7|E} 89 39.3 38.2 146 5.6 11 11 77.56
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H 3 M5 =AF 2t

<H 3-2-6> ™M _ gl o] mz|d

(Base: ALY O|8==Ft 0| &

oX

At Bl % F)

0f 2 x s o|29rst| =R

s | AT | awe | =s | SEH 2% yA il I
A 790 39.2 433 141 15 0.6 13 80.13
. = 383 379 42.8 154 1.8 0.8 13 79.17
= oo 407 40.5 437 12.8 12 0.5 12 81.03
20CH 250 444 384 144 12 0.0 16 82.01
ol 2 30CH 245 335 46.9 15.5 16 0.8 16 78.11
=° 40CH 199 37.2 47.2 116 2.5 1.0 0.5 79.42
50CH 96 448 38.5 14.6 0.0 1.0 1.0 81.84
S 244 447 42.6 10.2 12 0.8 04 8241
Az Z71/21H 472 36.2 45.6 144 19 04 15 79.25
Nl 71 394 310 254 0.0 14 2.8 77.54
OjA/2 2 3 66.7 333 0.0 0.0 0.0 0.0 91.67
NN 279 358 459 14.0 1.8 14 11 78.53
oHOj/ A H| A E] 50 36.0 48.0 12.0 4.0 0.0 0.0 79.00
23}1/0| =% 17 294 52.9 17.6 0.0 0.0 0.0 77.94
. g 61 393 41.0 19.7 0.0 0.0 0.0 79.92
o= plSES=] 157 40.1 44.6 115 19 0.0 19 81.33
SHAH 118 424 40.7 144 0.0 0.0 2.5 82.17
oxl 19 316 474 15.8 53 0.0 0.0 76.32
7| E} 89 494 32.6 14.6 11 11 11 82.39

- 49 -



H 3 M5 =AF 2t

2) 0| ®2|M
O 0|8Ha| Mo Thgh FUHE DHEC : 68.68%
- 50C(72.22F) > 20CH(71.10R) > 30CH(67.28%)) > 40CH(65.58%)

O O|gH2|Nol Ch3t H2Y UHE : HYAUTE80Y) > FABHT6427)

L O

m} >
> QLI EH72.937) > SFAIH{2{(69.067) > D[ 7+2(44.937)

<13 3-2-2> 0|8 Ma|M
(Base: 2 A|44/4:EH 0|8 ZHXL, E49): %, &)

68.68 76.42 76.80 72.93 44.93 69.06

= 0| 1ECH

=t
44.2%
FHE
3
J=X| @t
DN . 7% S =] 4t
alles
<H 3-2-7> 0| & He|d _ Huby HEe
(Base: TA|, BH: %, &)
gs | B2 | qmp | we | 2EA | ol |oigew| ma
T | 2o = S ekct s’fcr /BE | (100%)
A 791 17.2 44.2 34.8 3.7 0.1 0.0 68.68
.. LEN 384 16.1 456 33.9 4.2 0.3 0.0 68.29
c= oA 407 18.2 43.0 35.6 3.2 0.0 0.0 69.04
20cy 250 20.0 452 34.0 0.8 0.0 0.0 71.10
o124 30cH 243 13.6 457 374 29 04 0.0 67.28
=S 40ty 199 12.1 447 36.7 6.5 0.0 0.0 65.58
50CH 99 29.3 374 26.3 7.1 0.0 0.0 72.22
e 242 16.1 47.1 318 45 04 0.0 68.49
Sy x| B2/ 475 16.6 434 36.2 3.8 0.0 0.0 68.21
x| gt 71 239 40.8 35.2 0.0 0.0 0.0 72.18
0j A/ 2 S e 3 333 333 333 0.0 0.0 0.0 75.00
JVE=EY 278 144 46.8 335 5.0 04 0.0 67.45
ooj/MH| AR | 50 10.0 380 50.0 20 0.0 0.0 64.00
23}/0| &5 17 235 58.8 11.8 5.9 0.0 0.0 75.00
x10] A 62 24.2 40.3 33.9 16 0.0 0.0 7177
e 157 16.6 42,0 37.6 3.8 0.0 0.0 67.83
SHAl 118 18.6 50.8 29.7 0.8 0.0 0.0 71.82
x| 19 15.8 36.8 421 5.3 0.0 0.0 65.79
7|Ef 90 233 36.7 35.6 44 0.0 0.0 69.72
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<H 3-2-8> 0|8 Ha|y

H 3 M5 =AF 2t

S Al
TTo

7t

—_ | e

(Base: TA|, THl: %, H)

s | M2 | qmn | we | 2A | Son [osvm| ma
T | 2™t = © o4ct %ﬁ:r /RE | (100%)

A 792 33.6 434 18.1 49 0.0 0.0 76.42

.- LA 385 317 442 19.7 4.4 0.0 0.0 75.78
c= oA 407 35.4 42.8 16.5 5.4 0.0 0.0 77.03
20CH 250 38.0 40.0 17.2 48 0.0 0.0 77.80

o124 30CH 243 29.2 46.9 18.1 5.8 0.0 0.0 74.90
=° 40ty 199 28.6 46.7 19.6 5.0 0.0 0.0 7475
50CH 100 43,0 37.0 17.0 3.0 0.0 0.0 80.00

Ne 243 383 403 16.0 5.3 0.0 0.0 77.88

- A7|/9H 475 314 446 19.2 48 0.0 0.0 75.63
x| et 71 324 46.5 16.9 4.2 0.0 0.0 76.76

O|At/2 2 et 3 333 333 333 0.0 0.0 0.0 75.00

AR 279 30.8 434 20.1 5.7 0.0 0.0 74.82

THOY/A{H| A E] 50 28.0 440 220 6.0 0.0 0.0 73.50
23}/0)| =X 17 35.3 47.1 11.8 5.9 0.0 0.0 77.94

o PR R 62 435 403 14.5 16 0.0 0.0 81.45
e PIESEST] 157 331 439 17.2 5.7 0.0 0.0 76.11
SHAY 118 39.0 39.8 17.8 34 0.0 0.0 78.60

Qx| 19 211 474 263 53 0.0 0.0 71.05

7|E} 90 344 4738 133 44 0.0 0.0 78.06

<H 3-2-9> 0| mg|Md 3}kl
(Base: TA|, THl: %, &)
o 24 E&' R 0}&H m

s | AT | awo | =s | 2T 8% ISR o

Pabs| 791 343 43.0 18.6 4.0 0.1 0.0 76.80

1 LA 385 338 429 19.0 44 0.0 0.0 76.49
°= oA 406 347 431 18.2 3.7 0.2 0.0 77.09
20CH 250 404 41.2 15.2 3.2 0.0 0.0 79.70

o o4 30Cy 243 284 457 226 2.9 0.4 0.0 74.69
=e 40CH 199 276 50.3 16.1 6.0 0.0 0.0 74.87
50CH 99 46.5 263 222 5.1 0.0 0.0 78.54

M2 242 326 47.1 15.7 45 0.0 0.0 76.96

S #A7|/01H 475 34.1 423 19.2 4.2 0.2 0.0 76.47
x| gt 71 40.8 33.8 239 14 0.0 0.0 78.52

ojAl/2 et 3 333 33.3 333 0.0 0.0 0.0 75.00

AFEE] 279 326 41.9 20.8 47 0.0 0.0 75.63

ThOY/ A H| A X 50 20.0 54.0 26.0 0.0 0.0 0.0 73.50
235}/0)| =X 17 35.3 41.2 17.6 5.9 0.0 0.0 76.47

o A 62 46.8 29.0 194 48 0.0 0.0 79.44
e pl%SESC] 156 30.8 474 17.9 3.2 0.6 0.0 76.12
SHAY 118 415 424 12.7 34 0.0 0.0 80.51

Qx| 19 316 316 26.3 10.5 0.0 0.0 71.05

7| E} 90 356 456 144 44 0.0 0.0 78.06
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H 3 M5 =AF 2t

<H 3-2-10> 0|8 Ma|Al  QHJm JLH|

(Base: A, Tt %, &)

02 zx | 2o lojgot| ma

AtE S :lH%TEf Az 2% :‘1352} ! :L:‘f:fl |/°E§ (130%;1)

| 786 27.5 419 26.0 43 0.4 0.0 72.93

i LA 381 249 441 26.8 3.7 0.5 0.0 7231
°= of A 405 29.9 39.8 25.2 49 0.2 0.0 73.52
20CH 249 337 39.0 24.1 3.2 0.0 0.0 75.80

oo 30cH 242 22.7 421 29.8 5.0 0.4 0.0 70.45
i 40rY 197 18.8 497 26.9 36 1.0 0.0 70.43
50CH 98 40.8 32.7 19.4 7.1 0.0 0.0 76.79

Me 243 27.6 412 26.7 41 0.4 0.0 72.84

R A7|/01H 470 264 449 243 43 0.2 0.0 73.24
L 70 343 243 343 5.7 14 0.0 71.07

O|Al/ 2 S gt 3 333 333 333 0.0 0.0 0.0 75.00

AFRE 277 26.0 415 27.1 47 0.7 0.0 71.84

ThO/ A H| A X 50 18.0 54.0 26.0 2.0 0.0 0.0 72.00
23}/0]| & Al 17 35.3 412 23.5 0.0 0.0 0.0 77.94

o A 61 31.1 344 32.8 1.6 0.0 0.0 73.77
e TS ES=] 155 23.2 452 23.2 7.7 0.6 0.0 70.65
ShAY 118 33.1 40.7 24.6 17 0.0 0.0 76.27

=By 19 36.8 26.3 26.3 10.5 0.0 0.0 72.37

7|E} 89 31.5 404 247 34 0.0 0.0 75.00

<H 3-2-11> 0|8 Hald _ TOjAY 714 HHY
(Base: MK, Tt %, H)
ik o| =
M | g | 2wa | =e | R | awm OIREF) AR
=t o} =

| 793 84 16.0 32,5 26.2 13.1 3.7 4493
e LHA 386 9.8 15.5 28.2 28.0 14.2 41 44,46
c= oM 407 7.1 16.5 36.6 24.6 12.0 3.2 4537
20CH 250 11.2 16.4 30.8 26.0 11.2 4.4 47.49
o o4 30CH 245 5.7 15.5 343 26.1 15.5 2.9 4223
=< 40CH 199 5.5 14.6 34.2 27.6 14.6 3.5 4193
50CH 99 14.1 19.2 29.3 24.2 9.1 4.0 51.32
Ne 242 7.0 14.5 376 24.0 13.2 3.7 4431
Sz #A7|/01H 477 84 16.4 304 27.5 13.6 3.8 44.39
x|t 71 12.7 19.7 31.0 26.8 7.0 2.8 51.09
OjAl/BS et 3 333 0.0 0.0 0.0 66.7 0.0 33.33
JNE=ES) 279 7.2 204 32.3 244 12.5 3.2 46.20
T}hOf/ M H| A K 50 40 16.0 28.0 38.0 12.0 2.0 40.31
25}/0| & Al 17 11.8 11.8 47.1 11.8 17.6 0.0 47.06
o X el 62 11.3 12.9 35.5 274 8.1 438 47.88
e PiTSESE] 157 5.7 134 36.9 28.0 14.0 1.9 42.05
S 118 7.6 17.8 32.2 254 11.0 5.9 46.17
=B 19 10.5 15.8 36.8 21.1 10.5 5.3 48.61
7| E} 91 17.6 7.7 23.1 264 19.8 5.5 43.90
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H 3% A

<H 3-2-12> 0|8 H|g _ At2| XAl 4

=]
T

= A}

2u

(Base: At2|fXtHIZ Al 0|8 ARAL, THel: %, T)

1K= 24X M3y o|otst ;= |
sas | ol | awe | s | Sl 3w ORR%) G

A 790 185 384 324 3.9 0.1 6.7 69.06

i L 383 17.0 394 313 3.9 0.0 84 68.95
= oM 407 19.9 373 334 3.9 0.2 5.2 69.17
20c 249 217 329 29.7 3.6 0.0 12.0 70.66

o 24 30c 243 14.0 44.9 317 41 0.0 5.3 68.15
=< 40rH 199 16.6 38.2 37.2 40 0.5 35 67.19
50CH 99 253 36.4 313 40 0.0 3.0 71.35

MNe 241 17.4 41.1 30.3 41 04 6.6 69.00

S A7|/9H 475 17.3 37.9 339 40 0.0 6.9 68.38
x|t 71 29.6 324 31.0 14 0.0 56 73.88

Oj A/ 2 S & 3 333 333 0.0 333 0.0 0.0 66.67

AFRE] 279 17.2 41.6 326 3.9 0.0 47 68.89

ThOj/AMH| A R 50 12.0 28.0 44.0 6.0 0.0 10.0 62.78
23}/0| & %] 16 1838 50.0 25.0 0.0 0.0 6.3 73.33

o pRe:Rel] 62 21.0 35.5 339 32 0.0 6.5 69.83
e T SES=] 157 17.2 376 35.0 5.1 0.6 45 67.17
ShAY 117 22.2 41.0 231 1.7 0.0 12.0 73.79

2x| 19 15.8 21.1 474 5.3 0.0 10.5 63.24

7|E} 90 22.2 356 30.0 44 0.0 7.8 70.48
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H 3 M5 =AF 2t

3) Al 22| el

O AIAMPHE| AEO CHSH RMEHS BHE & : 72577
) > 30CH(71.63X) > 40CH(71.487X)

O A2 MEHO] T2t 328 BIEE : AR (8276E) > M|7|S(7557F)
> SPEA(7149%) > FABZHT056T) > S4TH(68.947) > B (67.92E)
<3 3-2-3> Al 22| AN

(Base: Zf A|A/==Ft 0|8 Z™AL, B2l %, &)

72.57 82.76 71.49 70.56 68.94 67.92 75.57
2 0| = CH
aaict
e 42.2% 40.6%
48.2% a6.9%  43:3%
i i 48.8% HE
51.5% Q=R ot
9%  288%  319%  337%
27.2% 23.9% " _215% “ ME AHX| %ct
2 \Ao" £E% 05% 5'2\% 4'9(\)0 5'9\% e 49\A) 1670 |
e MHE SEA BABZ 240 BONE MIlE

<E 3-2-13> A|M BE|AbE| _ MU BEE

(Base: ™A, THl: %, &)

23] s
o 2% olgerst| Bz
MAT | agn | I8 28 e | BN /eg | 00w
A 791 22.3 48.2 27.2 24 0.0 0.0 72.57
A B =) 384 234 48.2 253 31 0.0 0.0 7298
c= 0] 407 211 48.2 29.0 17 0.0 0.0 72.17
20LCH 248 254 464 26.2 2.0 0.0 0.0 73.79
of a4 30LCH 245 19.2 50.2 28.6 2.0 0.0 0.0 71.63
=< 40CH 199 18.6 50.8 28.6 2.0 0.0 0.0 71.48
50CH 99 29.3 424 23.2 51 0.0 0.0 73.99
NE 242 23.1 50.0 23.6 33 0.0 0.0 73.24
HER| 471/21H 475 213 474 291 2.3 0.0 0.0 71.89
a X &gt 71 254 479 26.8 0.0 0.0 0.0 74.65
Ol A/2SE 3 333 33.3 33.3 0.0 0.0 0.0 75.00
AR 278 20.9 50.7 25.2 3.2 0.0 0.0 72.30
THOH/ A H[ A A 50 16.0 46.0 36.0 2.0 0.0 0.0 69.00
=31/0] = A 17 29.4 353 29.4 5.9 0.0 0.0 72.06
x| of PRy 62 210 46.8 30.6 16 0.0 0.0 7177
e HHEE 157 185 49.0 31.2 13 0.0 0.0 71.18
Sk 118 24.6 54.2 17.8 34 0.0 0.0 75.00
23 19 211 316 474 0.0 0.0 0.0 68.42
7|Et 90 333 389 26.7 11 0.0 0.0 76.11
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H 3 M5 =AF 2t

<H 3-2-14> Al 2| AME] _ AHxiZ
(Base: TA|, THl: %, H)
o 2 s ok o™

FA 791 40.1 51.3 7.7 05 01 03 82.76

i A 384 365 53.1 94 0.8 0.0 03 81.40
= o4 407 435 49.6 6.1 0.2 0.2 0.2 84.05
20r} 249 40.6 49.0 9.2 0.8 04 0.0 8213

o o4 30rH 244 414 50.4 7.8 04 0.0 0.0 83.20
= 40ty 199 337 59.8 5.5 0.0 0.0 10 8211
50CH 99 48.5 424 8.1 1.0 0.0 0.0 84.60

NE 243 45.7 453 7.8 1.2 0.0 0.0 83.85

pizx | B2/ 474 37.1 54.9 7.2 0.2 0.2 04 82.26
x| 71 40.8 47.9 113 0.0 0.0 0.0 82.39

Oj&/2 8 g 3 333 66.7 0.0 0.0 0.0 0.0 83.33

A2 = 279 373 55.6 6.1 0.7 0.0 04 8246

THoj/MH| A F 50 300 52.0 16.0 20 0.0 0.0 77.50

23}/0 & 17 47.1 41.2 118 0.0 0.0 0.0 83.82

o R 62 484 41.9 9.7 0.0 0.0 0.0 84.68
e IHEER 157 42,0 516 6.4 0.0 0.0 0.0 83.92
SHal 118 40.7 51.7 6.8 0.8 0.0 0.0 83.05

23 19 263 57.9 15.8 0.0 0.0 0.0 77.63

7| E 89 46.1 43.8 7.9 0.0 11 11 83.81

<E 3-2-15> A@ TC|YE| _ =2HEH

(Base: MK, Tt %, H)

A ome | g e | 23x | 3 loigerst| ma
MAT | agn | BR ) =2 T 2EH e | oo

FA| 792 222 45.2 23.0 5.1 0.9 3.7 7149

Ao = 384 211 50.5 208 4.2 08 26 7233
c= of A 408 233 40.2 25.0 5.9 1.0 47 70.69
20cH 249 225 36.9 265 6.0 0.8 7.2 70.02

o o4 30CH 244 17.6 484 254 4.9 1.2 25 69.54
=< 40ty 199 211 52.8 19.1 4.0 0.5 25 73.07
50CH 100 35.0 43.0 16.0 5.0 1.0 0.0 76.50

N 243 251 43.2 23.0 4.5 1.2 29 7225

Sz —B21/eH 475 204 463 232 5.7 0.8 3.6 70.69
x| 71 239 437 225 2.8 0.0 7.0 73.86

ojAl/ 28 3 333 66.7 0.0 0.0 0.0 0.0 8333

AR E 279 19.7 52.3 204 5.0 14 11 71.20

THOj/ M H| A E| 50 10.0 46.0 36.0 2.0 0.0 6.0 67.02

23}/0] &%l 17 294 235 353 5.9 0.0 5.9 7031

_ NS 62 30.6 43.5 177 4.8 0.0 32 75.83
e e 158 22.8 424 24.1 5.1 0.6 5.1 71.50
A 118 220 415 237 6.8 0.8 5.1 7031

23 19 211 263 316 5.3 0.0 158 | 6875

7|Et 89 29.2 416 202 4.5 11 34 7413
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H 3 M5 =AF 2t

<H 3-2-16> A|A 22| AHel

S Al
ST

(Base: TH|, Thel: %, &)

x| | a2

e a3 ogors| ma

MAS | agny | A 28 e | BN URE | aoowm)
A 791 224 431 28.7 49 0.5 04 70.56
. =M 383 204 449 28.2 5.7 0.0 0.8 70.13
c= oM 408 243 414 29.2 4.2 1.0 0.0 70.96
20CH 249 24.1 446 253 4.4 0.8 0.8 71.86
of a4 30LCH 243 19.3 42.0 30.9 7.0 0.8 0.0 68.00
=< 40CH 199 171 46.7 31.2 5.0 0.0 0.0 68.97
50CH 100 36.0 35.0 27.0 1.0 0.0 1.0 76.77
N2 242 24.0 430 26.9 5.8 0.0 04 71.37
Az 4a7|/e1: 475 213 438 29.1 4.6 0.8 04 70.08
Nl 71 23.9 394 33.8 2.8 0.0 0.0 71.13
OjM/2E8E 3 33.3 33.3 0.0 33.3 0.0 0.0 66.67
AR ZE 278 20.9 439 30.2 43 04 04 70.22
oHOj /A H| A E] 50 120 48.0 34.0 6.0 0.0 0.0 66.50
§}/01| =Xl 17 23.5 529 17.6 5.9 0.0 0.0 73.53
<l ot PN 62 24.2 45.2 274 3.2 0.0 0.0 72.58
e 7}@% 158 22.8 38.6 31.6 5.7 13 0.0 68.99
SHAl 118 220 534 17.8 59 0.0 0.8 73.08
ozl 19 211 421 36.8 0.0 0.0 0.0 71.05
7| E} 89 315 29.2 315 5.6 11 11 7131

< 3-2-17> A #E|HE] _ SO/ EA|E

(Base: HA|, £H2: %, &)
L —— e | azx | B8 logon mz

M | agn | FBH ) =2 g | 2RH | Ume | oowm)
A 790 19.2 41.0 31.0 5.7 0.1 29 68.94
o =M 384 20.1 409 29.9 5.5 0.3 34 6941
c= oM 406 185 41.1 32.0 5.9 0.0 2.5 68.50
20CH 249 20.1 36.1 31.7 7.2 04 4.4 67.86
o o4 30CH 243 16.5 42.0 32.5 6.2 0.0 29 67.69
=< 40CH 199 16.6 48.2 29.6 45 0.0 1.0 69.42
50CH 99 29.3 364 28.3 3.0 0.0 3.0 73.70
N 241 21.2 42.3 25.7 5.8 04 4.6 7043
Az 471/21H 475 179 40.8 32.6 6.1 0.0 2.5 68.09
x| gt 71 211 38.0 38.0 2.8 0.0 0.0 69.37
OjA/28et 3 33.3 33.3 33.3 0.0 0.0 0.0 75.00
AR ZE 278 18.0 48.2 26.6 47 0.0 2.5 70.39
oHof /A | A E] 50 12.0 34.0 40.0 8.0 0.0 6.0 63.30
—.—2|-/01| =Xl 17 23.5 41.2 17.6 118 0.0 59 70.31
. A 62 21.0 40.3 30.6 6.5 0.0 1.6 69.26
e |-X"—|——,— 157 17.8 395 36.3 3.8 0.0 25 68.30
Sl 118 21.2 415 26.3 59 0.8 4.2 69.91
2=l 19 15.8 15.8 57.9 10.5 0.0 0.0 59.21
7| E} 89 25.8 30.3 33.7 79 0.0 2.2 68.97
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H 3% MEF =AF E1f
<H 3-2-18> A|M ZHI|AME{  THOjA| M
(Base: ZtOHA|H 0|8 ZEX}, B2l %, H)
o =5 ﬁ&l 2 0}sH b |
LS

A 788 19.2 40.2 334 48 14 1.0 67.92

. | 383 211 39.7 321 3.9 13 18 69.22
c= oy 405 17.3 40.7 346 5.7 15 0.2 66.71
20CH 247 211 40.5 324 36 0.8 16 69.65

o124 30cH 243 16.5 39.5 35.0 5.8 2.9 04 65.29
=< 40ty 199 15.1 42.7 35.2 5.5 0.5 1.0 66.75
50CH 99 293 36.4 283 40 1.0 1.0 7245

e 241 18.7 415 324 5.8 0.8 0.8 67.99

S A7|/9H 473 184 389 347 49 1.9 13 66.97
x| gt 71 254 451 28.2 14 0.0 0.0 73.59

ojA/ 2 SEt 3 333 33.3 333 0.0 0.0 0.0 75.00

JNE=R | 278 17.6 41.7 335 43 18 11 67.45

E O/ A H| A E 49 10.2 429 449 2.0 0.0 0.0 65.31
+/01|AXI 17 17.6 412 35.3 5.9 0.0 0.0 67.65

o g 62 226 387 323 438 16 0.0 68.95
e 7pg$$ 157 15.9 38.2 376 6.4 1.9 0.0 64.97
SHAY 118 21.2 483 212 6.8 0.0 2.5 71.52

Qx| 19 15.8 263 57.9 0.0 0.0 0.0 64.47

7| E} 88 30.7 30.7 30.7 34 23 2.3 71.51

<H 3-2-19> A|M Z2|ME] MY 7|E
(Base: HA|, £H2: %, &)
L ome | . agx | B¥ ogors| maz
MElE | Jmpp | 2D | BE | o Ig;ét’;l /2E | (100%)
LS

A 791 277 48.7 215 1.8 0.1 0.3 75.57

e Ly 384 289 474 20.8 2.3 03 0.3 75.65
c= oA 407 26.5 49.9 22.1 1.2 0.0 0.2 75.49
20cH 249 30.5 474 20.1 16 04 0.0 76.51

o 24 30CH 244 25.0 50.0 242 04 0.0 0.4 75.00
=e 40CH 199 236 518 211 3.5 0.0 0.0 73.87
50CH 99 354 424 19.2 2.0 0.0 1.0 78.06

Ne 242 289 47.1 219 1.7 0.0 0.4 75.93

S A7|/01H 475 265 50.1 20.8 2.1 0.2 0.2 75.21
x| et 71 310 45.1 239 0.0 0.0 0.0 76.76

ojAl/2 gt 3 333 333 33.3 0.0 0.0 0.0 75.00

V=S 279 26.9 52.0 19.0 1.8 0.0 0.4 76.08

T}Of/ M H| A R 50 20.0 40.0 38.0 0.0 2.0 0.0 69.00
5?2}/01@& 17 35.3 35.3 294 0.0 0.0 0.0 76.47

o Xt 62 30.6 41.9 21.0 6.5 0.0 0.0 74.19
T 7p<+x = 157 217 516 248 13 0.0 0.6 73.56
SHAY 118 322 50.0 16.9 0.8 0.0 0.0 78.39

=R 19 15.8 57.9 263 0.0 0.0 0.0 7237

7| E} 89 382 41.6 18.0 2.2 0.0 0.0 78.93
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H 3 M5 =AF 2t

4) oMM
O AIMTH2|AERO| CHEH REHY OHE & : 76.52H
- 50CH(80.75&) > 40LC{(76.38) > 20CH{(76.31F&) > 30CH(75.10&)
% OIS 0| 844|(8L27H) > ZHE(75.86%)
> A|AZ(75.708) > =0|E{(75.227H)

O Al2&e|JEfof Tt &=

—

3-2-4>

A

:I.Enl O}EM

[ o
(Base: Zf A|d/4~EF 0|8 ZRXL THel: %, H)
76.52 75.70 81.27 75.22 75.86
= 0) 1=t
asct
54.7% 52.4% 51.3% 55.6% HE
50.3%
YR gt
18.7% 19.7% x 22.4% 19.1% v HE DX et
0.6% 1.8% 2 gy, 1.0% 0.9% : &
ek AlEE 0| 83| Z0|H zHE
<E 3-2-20> ObHY _Huly BEE
(Base: T A, THel: %, &)
e | M2 | can | e | 22X | 2 ogos| ma
| Jap | 2¥CH | 28 okr} Jofq| /B2 | (100%)
LS
HA| 792 26.0 54.7 187 0.6 0.0 0.0 76.52
i oA 385 26.5 54.8 18.2 05 0.0 0.0 76.82
c= ol M 407 256 54.5 19.2 07 0.0 0.0 76.23
20cH 248 274 516 19.8 1.2 0.0 0.0 76.31
o124 30cH 245 208 58.8 204 0.0 0.0 0.0 75.10
=< 40t} 199 236 59.3 16.1 1.0 0.0 0.0 76.38
50y 100 40.0 43.0 17.0 0.0 0.0 0.0 80.75
Mg 242 244 54.1 207 0.8 0.0 0.0 75.52
- Ho)/91H 476 258 55.7 17.9 0.6 0.0 0.0 76.68
T x|t 71 324 50.7 169 0.0 0.0 0.0 78.87
o)A/ 2 SE 3 333 333 333 0.0 0.0 0.0 75.00
RS 278 20.5 62.9 16.2 04 0.0 0.0 75.90
ool /A H| A X 50 20.0 52.0 20.0 8.0 0.0 0.0 71.00
231/0) &% 17 235 64.7 11.8 0.0 0.0 0.0 77.94
o A 62 40.3 40.3 194 0.0 0.0 0.0 80.24
e IR EE 158 247 49.4 259 0.0 0.0 0.0 74.68
Al 118 305 52.5 169 0.0 0.0 0.0 78.39
2% 19 15.8 57.9 263 0.0 0.0 0.0 72.37
7|Et 90 356 50.0 144 0.0 0.0 0.0 80.28
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H 3 M5 =AF 2t

<H 3-2-21> QMM  A|AME
(Base: TA|, THl: %, H)
ga | M2 | Qe | we | 2R | ook |olse| ua
T | a=c s = okrCt 954 /BE | (100%H)
HA| 791 26.0 523 197 18 0.0 0.1 75.70
o Lt 384 27.1 529 182 16 0.0 0.3 76.44
c= o1 407 25.1 518 211 2.0 0.0 0.0 75.00
20 249 293 47.0 217 16 0.0 04 76.11
o 30 244 23.0 529 20.9 33 0.0 0.0 73.87
=< 40rH 199 196 618 17.6 10 0.0 0.0 75.00
50CH 99 384 | 455 162 0.0 0.0 0.0 80.56
Ne 242 25.2 57.0 165 1.2 0.0 0.0 76.55
ZA7)/oH 475 25.9 50.7 211 2.1 0.0 0.2 75.16
x| g 71 296 | 479 211 14 0.0 0.0 7641
O|Al/FSE 3 333 333 333 0.0 0.0 0.0 75.00
NS 279 22.2 58.4 183 1.1 0.0 0.0 75.45
oHO/MH|AZ] | 50 16.0 56.0 24.0 4.0 0.0 0.0 71.00
231/0)2 % 17 35.3 35.3 294 0.0 0.0 0.0 7647
o X o 62 339 | 435 194 16 0.0 16 77.87
T szs 157 248 | 490 22.9 3.2 0.0 0.0 73.89
hal 118 331 | 475 17.8 17 0.0 0.0 77.97
23 19 211 526 211 5.3 0.0 0.0 72.37
7|t 89 303 52.8 169 0.0 0.0 0.0 78.37
<E 3-2-22> Qg 2 et 0|83
(Base: TH|, £Hel: %, )
ges | M2 | qan | owe | 2TF | ol [osem) ma
T | ame | - = | e | o | /28 | @oom)
HA| 791 375 | 499 111 0.8 0.0 06 | 8127
i o 384 398 | 482 109 0.5 0.0 0.5 | 82.00
°= ol 407 354 516 113 1.0 0.0 0.7 80.57
20 249 300 | 462 120 0.8 0.0 20 | 8145
o2 30cH 244 32.0 54.5 123 12 0.0 00 | 7930
=e 40rH 199 387 523 9.0 0.0 0.0 00 | 8241
s0cH 99 455 | 434 101 1.0 0.0 00 | 8333
Ne 242 372 50.4 107 08 0.0 08 | 8125
Z47)/2H 475 37.5 50.3 109 0.8 0.0 04 | 8124
x| g 71 394 | 465 127 0.0 0.0 14 | 8179
DA/ 2 SE 3 333 333 333 0.0 0.0 00 | 7500
AL E| 279 333 53.8 11.1 14 0.0 04 | 7986
oHOj/MH[AZ] | 50 24.0 500 | 240 20 0.0 00 | 7400
23}/0| & X! 17 412 | 471 11.8 0.0 0.0 00 | 8235
o R 62 516 | 435 3.2 16 0.0 00 | 8629
e e 157 35.0 51.6 127 0.0 0.0 06 | 8061
Al 118 415 | 449 110 0.0 0.0 25 | 8283
23 19 263 63.2 105 0.0 0.0 00 | 7895
7|} 89 494 | 438 6.7 0.0 0.0 00 | 8567
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H 3 M5 =AF 2t

<H 3-2-23> otXAM  =0|H

(Base: =0|E 0|8 ZHXL T2l %, &)
L | ome | g e | 23R | 2 logas| ma

MAT | agn | R =2 gn | 28 | /e | qoom

A 791 22.1 44.9 19.6 0.9 0.0 12.5 75.22

A =24 384 23.2 435 19.8 0.8 0.0 12.8 75.52
= oA 407 21.1 46.2 19.4 1.0 0.0 12.3 74.93
20C} 249 245 345 21.3 0.8 0.0 189 75.50

o 24 30Cy 244 17.6 49.2 20.5 0.4 0.0 12.3 73.95
=< 40T} 199 19.1 51.8 18.6 2.0 0.0 8.5 74.04
50CH 99 333 46.5 15.2 0.0 0.0 5.1 79.79

Ne 242 21.9 442 18.6 2.1 0.0 13.2 74.76

7K A7|/0H 475 21.9 46.3 19.2 0.4 0.0 12.2 75.54
x| et 71 239 38.0 26.8 0.0 0.0 113 74.21

OjAl/2 S gt 3 333 333 0.0 0.0 0.0 333 87.50

AFEE] 279 19.0 50.9 20.8 0.7 0.0 8.6 74.12

T}hOf /A H| A R 50 14.0 40.0 26.0 40 0.0 16.0 69.05
B231/0)& % 17 294 294 235 0.0 0.0 17.6 76.79

o Xl 62 35.5 41.9 12.9 0.0 0.0 9.7 81.25
e IS BT 157 15.9 46.5 25.5 1.3 0.0 10.8 71.61
ShAY 118 26.3 39.0 14.4 0.8 0.0 19.5 78.16

2x| 19 15.8 316 26.3 0.0 0.0 26.3 7143

7| E} 89 326 41.6 11.2 0.0 0.0 14.6 81.25

<HE 3-2-24> 9t WS
(Base: ™A, Et2: %, &)
o 2 g 20}5} |

| 789 243 55.6 19.1 0.9 0.0 0.0 75.86
1 LA 383 25.1 55.6 185 0.8 0.0 0.0 76.24
c= ol A 406 23.6 55.7 19.7 1.0 0.0 0.0 75.49
20CH 248 25.8 52.0 21.0 1.2 0.0 0.0 75.60
o 24 30CH 244 21.7 57.8 20.5 0.0 0.0 0.0 75.31
=< 40LY 199 21.1 61.8 15.6 15 0.0 0.0 75.63
50CH 98 337 46.9 184 1.0 0.0 0.0 78.32
Ne 241 224 56.4 19.5 17 0.0 0.0 74.90
. A7|/9H 474 24.1 56.3 19.2 04 0.0 0.0 76.00
x|t 71 324 493 16.9 14 0.0 0.0 78.17
ojAl/2Sct 3 333 333 333 0.0 0.0 0.0 75.00
JNE=E. 277 20.9 61.4 17.0 0.7 0.0 0.0 75.63
ThOj/ A H| A X 50 18.0 56.0 20.0 6.0 0.0 0.0 71.50
2351/0] & Al 17 235 52.9 235 0.0 0.0 0.0 75.00
lon A 61 37.7 443 16.4 1.6 0.0 0.0 79.51
T Py SESC 158 19.6 53.8 25.9 0.6 0.0 0.0 73.10
SHAY 118 28.0 52.5 19.5 0.0 0.0 0.0 77.12
=Py 19 15.8 57.9 263 0.0 0.0 0.0 72.37
7|E} 89 34.8 52.8 124 0.0 0.0 0.0 80.62
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H 3 M5 =AF 2t

ot HeHs 2ERT - 80.627F
4 667) > 30CH(80.12F) > 20Cf(79.727H)

O'zxd 2 gavof oot =9 =L ZFA[E(8143F) > FHZXZH80.37F)
> 2=Z21(80.217H) > =4 A|H(78.16H)

<17 3-2-5> 27 U AR

(Base: 2 A| /45t 0|8 FHAL, £49): %, &)

80.62 81.43 78.16 80.37 80.21
# 0| 1=CH
RET"
0 28
51.8% o 52.0% 52.1% 50.1%
53.1%
Jax) gt
o FME| TSR] O
12.1% 8.1% 13.9% 12:2% 12.2% T8 2R T
0.5% 1.5% 2.5% 0-6%
e ZEAM +ENE Rz 22

(Base: ™A, THl: %, &)

3 e

AH A oj 2 asc HE X J=x o|getgt| Ha

s | sy ; orr} &ml /BE | (100H)
MK 792 35.6 51.8 12.1 0.5 0.0 0.0 80.62
bt LHA 384 35.4 51.8 12.2 0.5 0.0 0.0 80.53
°= ol 408 35.8 51.7 12.0 0.5 0.0 0.0 80.70
20CH 249 37.8 44.6 16.5 1.2 0.0 0.0 79.72
of 24 30LCH 244 34.0 52.9 12.7 04 0.0 0.0 80.12
=< 40ty 199 32.7 61.3 6.0 0.0 0.0 0.0 81.66
50Cy 100 40.0 48.0 12.0 0.0 0.0 0.0 82.00
N 243 383 50.6 11.1 0.0 0.0 0.0 81.79
R A7|/91H 475 34.5 52.8 12.0 0.6 0.0 0.0 80.32
T x| et 71 33.8 479 16.9 14 0.0 0.0 78.52
OjA/2 oLt 3 333 66.7 0.0 0.0 0.0 0.0 83.33
APEE] 279 33.0 56.3 10.8 0.0 0.0 0.0 80.56
O/ A H| A 50 30.0 52.0 16.0 2.0 0.0 0.0 77.50
23}/0|& = 17 52.9 47.1 0.0 0.0 0.0 0.0 88.24
- e A 62 371 46.8 16.1 0.0 0.0 0.0 80.24
e B 158 33.5 55.7 10.1 0.6 0.0 0.0 80.54
SHAY 118 38.1 46.6 14.4 0.8 0.0 0.0 80.51
oz 19 263 52.6 211 0.0 0.0 0.0 76.32
7|E} 89 44.9 416 124 11 0.0 0.0 82.58
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H 3 M5 =AF 2t

<H 3-2-26> =73 AU F& _ =FAME 2| dEY
(Base: A, THel: %, &)

e | W2 | qan | we | 22F | S jogos| ma
BT | agg | 280 28 Tan | 28H | Ueg | oom)

A 793 37.2 53.1 8.1 15 0.1 0.0 8143

4 =R 385 37.9 52.5 8.1 16 0.0 0.0 81.69
°= oM 408 36.5 53.7 8.1 15 0.2 0.0 81.19
20CH 249 36.1 49.8 11.2 24 04 0.0 79.72

o 24 30CH 245 37.1 53.5 6.9 24 0.0 0.0 81.33
=< 40CH 199 35.2 61.3 3.5 0.0 0.0 0.0 8291
50CH 100 440 440 12.0 0.0 0.0 0.0 83.00

S 243 40.3 494 9.1 12 0.0 0.0 82.20

Az a7|/1H- 476 36.6 54.6 7.1 15 0.2 0.0 81.46
Nl 71 31.0 54.9 11.3 2.8 0.0 0.0 78.52

OjA/2 26 3 333 66.7 0.0 0.0 0.0 0.0 83.33

AR ZE 279 35.5 56.6 6.1 1.8 0.0 0.0 81.45

oHof /A | A E] 50 26.0 60.0 12.0 20 0.0 0.0 77.50
23}/0|| == 17 52.9 41.2 5.9 0.0 0.0 0.0 86.76

. g 62 46.8 43.5 9.7 0.0 0.0 0.0 84.27
e S ES=] 158 36.1 544 8.2 13 0.0 0.0 81.33
Sl 118 37.3 52.5 7.6 17 0.8 0.0 80.93

2 19 211 63.2 10.5 53 0.0 0.0 75.00

7| E} 90 444 433 111 11 0.0 0.0 82.78

<E3-227> 27 Y AT _ AN B2l
(Base: T A, TFel: %, H)
o2 agx | B8 logest| ma
MAT | agn | BRI =2 g | 238 mE | oom)
LS

A 792 316 52.0 13.9 2.5 0.0 0.0 78.16

A =AM 384 32.6 52.3 13.3 1.8 0.0 0.0 7891
c= oM 408 30.6 517 14.5 3.2 0.0 0.0 7745
20CH 249 29.7 474 185 4.4 0.0 0.0 75.60

of a4 30CH 244 30.7 54.9 11.9 25 0.0 0.0 78.48
=< 40CH 199 31.2 57.8 9.5 15 0.0 0.0 79.65
50CH 100 39.0 45.0 16.0 0.0 0.0 0.0 80.75

MNE 243 34.6 50.6 13.2 16 0.0 0.0 79.53

Ay A71/20H 475 30.7 52.8 13.7 2.7 0.0 0.0 77.89
x| gt 71 26.8 50.7 18.3 4.2 0.0 0.0 75.00

OjA/2 S 3 333 66.7 0.0 0.0 0.0 0.0 83.33

NSRS 279 30.5 55.9 11.8 1.8 0.0 0.0 78.76

oHof/ A H| A E] 50 28.0 50.0 20.0 2.0 0.0 0.0 76.00
23}/0| =2 17 47.1 52.9 0.0 0.0 0.0 0.0 86.76

x| o A 62 339 45.2 194 16 0.0 0.0 77.82
= JIHE=E 158 31.0 52.5 14.6 19 0.0 0.0 78.16
Sl 118 29.7 50.0 15.3 5.1 0.0 0.0 76.06

23 19 211 52.6 15.8 10.5 0.0 0.0 71.05

7| E} 89 38.2 47.2 124 2.2 0.0 0.0 80.34
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<H 3-2-28> =7 U AZ

H 3 M5 =AF 2t

(Base: A, Tt %, &)

1] TK=] =X g o
s | he | 2o | = | EH % S
A 792 350 | 521 | 122 06 0.0 80.37
e =9 384 349 510 133 08 0.0 80.01
°= oy 408 350 | 532 | 113 05 0.0 80.70
20 249 357 | 482 | 149 12 0.0 79.62
- 30c 244 344 | 525 | 127 04 0.0 80.23
=< 40t 199 322 | 618 55 0.5 0.0 8141
50cH 100 | 400 | 420 | 180 0.0 0.0 80.50
Ng 243 366 | 514 | 115 04 0.0 81.07
7|/ 475 343 | 526 | 124 06 0.0 80.16
x|t 71 338 | 507 | 141 14 0.0 79.23
oj4/28e 3 333 | 667 0.0 0.0 0.0 8333
AR E 279 319 | 581 9.7 04 0.0 80.38
THOj/AMH|AZ] | 50 260 | 540 | 200 0.0 0.0 76.50
23}/0| % 17 588 | 353 5.9 0.0 0.0 88.24
o AE e 62 387 | 419 | 194 0.0 0.0 79.84
oe reEE 158 348 | 519 | 127 06 0.0 80.22
SHA 118 364 | 517 | 102 17 0.0 80.72
25 19 263 | 526 | 211 0.0 0.0 7632
7|t 89 427 | 438 | 124 11 0.0 82.02
<H 3-2-24> =7F A B# _=d 2| ZH|
(Base: TH|, £Hl: %, )
e X Hy o
s | gy | 3w =8 | ol | g 1002
T 792 364 | 501 | 122 0.5 038 80.21
. = 384 346 | 508 | 130 0.5 10 79.36
°= oy 408 380 | 495 | 115 0.5 0.5 81.00
20cH 249 386 | 434 | 169 0.8 04 79.72
o2y 30cH 244 361 | 508 | 123 0.8 0.0 80.53
=< 40t} 199 322 | 593 6.5 0.0 2.0 79.90
50cf 100 | 400 | 470 | 120 0.0 1.0 81.25
N 243 403 | 473 | 115 0.0 08 81.58
ZA7|/9H 475 345 | 524 | 116 06 08 79.79
x| gt 71 352 | 437 | 197 14 0.0 78.17
olA/28g 3 333 | 667 0.0 0.0 0.0 8333
AHEE] 279 337 | 559 9.7 04 04 80.56
THOf/MH|AZ] | 50 280 | 520 | 200 0.0 0.0 77.00
23/0| &% 17 588 | 353 0.0 0.0 5.9 85.29
o A el 62 355 | 500 | 129 0.0 16 79.44
T otEze 158 348 | 525 | 108 06 13 79.75
SHA 118 390 | 441 | 153 17 0.0 80.08
o 19 316 | 421 | 263 0.0 0.0 76.32
7|t 89 461 | 393 | 135 0.0 11 8230
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H 3 M5 =AF 2t

6) =& FIMET
O =l AP thgh HUHE QHEC : 71567
- 50CH(74.25X) > 20CH(72.59X) > 30CH(70.61%]) > 40CH(70.08%)

O =Y HMETo 3t S2Y EE  YEX(79.83F) > X YSCH(7655%)
> ALSAHTS5.61%) > 2U/E|XH(74.498) > X122 K(71.96F)
> O™ &I 21(65.334) > oM Q 21(60.81H)

<13 3-2-6> M9 APE

(Base: Zf A|&/==EF 0| & B&AL Bl %, )

71.56 76.55 79.83 7449 7561 60.81 6533 71.96
EEEEEEiD :::-:j |:|H_<'D_ :]-E'c':jl:l'
41.8% 300%  32.0% a3
N 47.5% 414%  41.4% 44.9% wE
53.8%
B e ™R grt
N 19.3% 241%  23.9% 18.4% 26.1% R 2| ot

(Base: TH|, EHel: %, H)

3| ol 5

o ome | g azx | B3 joigerst| ma

MAT | agg | A =2 an | 32N e aoom)
A 792 235 41.8 324 2.0 0.3 0.0 71.56
e =i 385 27.5 41.6 294 1.0 0.5 0.0 73.64
c= oM 407 19.7 42.0 354 29 0.0 0.0 69.59
20CH 249 27.3 394 30.1 2.8 04 0.0 72.59
ol 4 30C4 245 20.8 433 33.9 16 04 0.0 70.61
=< 40Ly 198 19.2 43.9 34.8 2.0 0.0 0.0 70.08
50CH 100 29.0 40.0 30.0 1.0 0.0 0.0 74.25
MNE 243 22.2 424 333 16 04 0.0 71.09
AEP 47|/01H 475 24.0 40.8 32.8 21 0.2 0.0 71.58
T x| gt 71 23.9 46.5 26.8 2.8 0.0 0.0 72.89
oj A/ 2 SE 3 333 333 333 0.0 0.0 0.0 75.00
=R 278 21.2 493 27.3 1.8 04 0.0 72.30
ohoj/ M H| AR 50 16.0 32.0 46.0 6.0 0.0 0.0 64.50
23/0=2! 17 235 47.1 23.5 0.0 5.9 0.0 70.59
x| ot A 62 323 323 33.9 1.6 0.0 0.0 73.79
e e 158 15.8 41.8 41.8 0.6 0.0 0.0 68.20
St 118 28.0 441 26.3 17 0.0 0.0 74.58
2%l 19 211 26.3 474 53 0.0 0.0 65.79
7|E} 90 36.7 30.0 30.0 33 0.0 0.0 75.00
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H 3 M5 =AF 2t

<E3-2-31> Hg NEE _ A S0 MY

(Base: A, Tt %, &)

o azx | B8 ogous| maz
M | quy | awer | =e | R o B sy
A 792 309 475 19.3 14 09 0.0 76.55
i =k 384 344 46.6 174 1.0 0.5 0.0 78.32
e= oM 408 27.7 483 211 1.7 1.2 0.0 74.88
20CH 249 321 46.6 185 1.6 1.2 0.0 76.71
of a4 30CH 244 29.1 50.0 19.3 1.2 04 0.0 76.54
= 40CH 199 25.6 51.8 20.6 1.0 1.0 0.0 75.00
50CH 100 43.0 35.0 19.0 2.0 1.0 0.0 79.25
ME 243 34.6 424 21.0 1.6 04 0.0 77.26
Ad71/01H 475 29.1 50.1 18.7 13 0.8 0.0 76.32
NS 71 29.6 479 18.3 14 2.8 0.0 75.00
oA/ 2 St 3 66.7 33.3 0.0 0.0 0.0 0.0 91.67
A2 E] 279 29.7 534 15.8 0.7 04 0.0 77.87
THOj/ M H| AR 50 26.0 38.0 34.0 0.0 2.0 0.0 71.50
23}/0| =% 17 294 471 235 0.0 0.0 0.0 76.47
1 Of A A 62 387 38.7 194 1.6 1.6 0.0 77.82
e S ES= 158 26.6 494 22.2 13 0.6 0.0 75.00
SHAH 118 314 475 17.8 25 0.8 0.0 76.48
2x 19 211 36.8 31.6 10.5 0.0 0.0 67.11
7|E} 89 416 39.3 15.7 1.1 2.2 0.0 79.21

(Base: A, Tt %, &)

MY =l =
~ | 0% =N ogeotet| Ho
MAT | agn | BRI =2 gn | 22N /e | o)
F | 792 33.6 53.8 11.5 0.6 0.5 0.0 79.83
" B 384 36.5 52.1 10.7 0.5 0.3 0.0 80.99
c= ol N 408 30.9 55.4 12.3 0.7 0.7 0.0 78.74
20C| 249 37.3 48.2 12.0 1.2 1.2 0.0 79.82
o124 30C| 244 30.7 59.0 10.2 0.0 0.0 0.0 80.12
=< 40Cy 199 28.1 60.3 10.6 0.5 0.5 0.0 78.77
50CH 100 420 420 15.0 1.0 0.0 0.0 81.25
Ne 243 36.2 514 11.9 0.0 0.4 0.0 80.76
A7|/01H 475 31.6 55.8 11.2 1.1 0.4 0.0 79.26
x|t 71 36.6 493 12.7 0.0 14 0.0 79.93
OjAt/2 et 3 66.7 33.3 0.0 0.0 0.0 0.0 91.67
JNE=E] 279 31.2 59.5 9.0 0.0 0.4 0.0 80.29
THOY /M H| A R 50 32.0 40.0 24.0 2.0 2.0 0.0 74.50
231/0]| & %l 17 294 64.7 5.9 0.0 0.0 0.0 80.88
o N R 62 46.8 419 9.7 1.6 0.0 0.0 8347
oe WSS E 158 25.9 60.1 12.7 0.6 0.6 0.0 77.53
S 118 38.1 46.6 13.6 0.8 0.8 0.0 80.08
=R 19 15.8 57.9 21.1 5.3 0.0 0.0 71.05
7| E} 89 449 47.2 79 0.0 0.0 0.0 84.27
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H 3 M5 =AF 2t

<E 3-2-33> X2 NEE _ Q/5|¥ 2M%0|
(Base: TA|, THl: %, H)
o W2 | azx | B logort| ma
MAS | ag | IBR =2 e | 22H | URg” | oom)
LS
A 792 30.6 414 24.1 33 0.6 0.0 74.49
o = 384 331 443 19.8 2.3 0.5 0.0 76.76
c= of M 408 28.2 38.7 28.2 4.2 0.7 0.0 72.37
20CH 249 29.7 34.5 29.7 5.2 0.8 0.0 71.79
o o4 30CH 244 299 46.7 19.7 33 0.4 0.0 75.61
=° 40LCH 199 28.1 45.2 24.6 15 0.5 0.0 74.75
50CH 100 39.0 38.0 20.0 2.0 1.0 0.0 78.00
N2 243 333 41.2 22.2 3.3 0.0 0.0 76.13
AEP Ad7]/e1H: 475 28.2 434 24.0 3.6 0.8 0.0 73.63
NS 71 35.2 29.6 324 14 14 0.0 73.94
oA /22 E 3 66.7 33.3 0.0 0.0 0.0 0.0 91.67
AR E] 279 30.1 49.5 18.6 1.8 0.0 0.0 76.97
o/ M H| A A 50 22.0 36.0 36.0 6.0 0.0 0.0 68.50
23}1/0| =2l 17 235 353 41.2 0.0 0.0 0.0 70.59
<1 O e 62 40.3 37.1 194 16 16 0.0 78.23
e JtEEE 158 259 38.0 316 3.2 13 0.0 71.04
S 118 28.8 40.7 23.7 51 1.7 0.0 7246
L= 19 26.3 211 474 53 0.0 0.0 67.11
7|E} 89 42.7 34.8 16.9 5.6 0.0 0.0 78.65
<H 3-2-34> %@ XHEE _ AISAI HHo E2 HE
(Base: TH|, THel: %, H)
L . azx | 2 logos| ma
MEE | qgr | 2BH ] 28 Tan | AR a2T | 100m)
Tt
A 789 26.6 343 19.6 2.3 0.1 17.0 75.61
A £ =M 384 26.8 344 18.2 2.1 0.0 18.5 76.36
c= oM 405 264 343 21.0 2.5 0.2 15.6 74.93
20CH 249 29.7 30.1 18.9 2.8 0.0 18.5 76.60
ol o4 30CH 244 23.8 35.7 19.7 04 0.0 20.5 76.03
=< 40CH 198 253 38.9 19.2 35 0.0 131 7471
S50CH 98 28.6 32.7 224 3.1 1.0 12.2 74.13
N 241 30.7 30.7 195 2.5 04 16.2 76.49
HZR| Ad7|/01: 474 24.3 376 20.3 19 0.0 16.0 75.06
Xl gt 71 28.2 26.8 15.5 4.2 0.0 254 7642
0| A/ 2 2F 3 333 0.0 333 0.0 0.0 333 75.00
AR ZE 278 24.1 41.0 16.5 11 0.0 17.3 76.63
THOf/ M H| AR 50 18.0 36.0 30.0 4.0 0.0 12.0 69.32
23}1/0=2! 17 353 11.8 353 0.0 0.0 17.6 75.00
x| O A 61 311 24.6 213 8.2 0.0 14.8 73.08
e S ES=] 157 21.7 35.0 24.2 2.5 0.0 16.6 72.71
ShAl 118 30.5 347 144 1.7 0.0 18.6 7891
=S| 19 211 26.3 26.3 53 0.0 211 70.00
7| E} 89 393 23.6 16.9 11 11 18.0 80.14
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H 3 M5 =AF 2t

<H 3-2-35> X3 HEE _S=3 AHa H{X]|

(Base: A, Tt %, &)

o =51 E?)':I - 2 0}st i
LS
FH| 784 19.5 30.0 284 184 3.7 0.0 60.81
i LA 379 237 29.3 26.1 16.9 40 0.0 62.99
c= ol M 405 15.6 30.6 30.6 19.8 35 0.0 58.77
20LH 249 22.9 285 27.3 17.3 40 0.0 62.25
o124 30LH 242 16.5 28.1 32.2 19.0 41 0.0 58.47
=< 40CH 195 16.4 33.8 28.2 17.9 36 0.0 60.38
50CH 98 24.5 30.6 224 20.4 2.0 0.0 63.78
Ne 240 17.5 32.5 25.0 20.0 5.0 0.0 59.38
S Z7|/91H 470 19.6 294 29.1 183 36 0.0 60.74
X|et 71 254 254 35.2 14.1 0.0 0.0 65.49
ojAt/2 et 3 333 33.3 33.3 0.0 0.0 0.0 75.00
AFELE] 275 19.3 335 28.4 16.0 2.9 0.0 62.55
ThO /M H| A X 50 16.0 26.0 22.0 28.0 8.0 0.0 53.50
23}/0| &=l 17 235 17.6 412 5.9 11.8 0.0 58.82
o g 60 26.7 30.0 133 233 6.7 0.0 61.67
oe piYSESS] 157 9.6 29.3 37.6 204 32 0.0 5541
ShAY 118 22.0 34.7 23.7 16.9 2.5 0.0 64.19
=B 19 5.3 15.8 474 31.6 0.0 0.0 48.68
7| E} 88 34.1 21.6 26.1 14.8 34 0.0 67.05
<H 3-2-36> X MHEE O0jH HAo| NEAY
(Base: ™A, THel: %, &)
[1]1K=] 2x e 1 o|29olst oo
B 1'%;",:} agct | EE :;,j:}l gﬂ I/Eén (100%)
HA 792 19.1 30.3 37.2 5.8 23 5.3 65.33
o LA 384 22.7 28.1 36.2 5.2 1.0 6.8 67.74
c= RS 408 15.7 324 38.2 6.4 34 3.9 63.14
20L| 249 24.9 31.7 31.3 36 2.0 6.4 69.74
o124 30CH 244 14.3 30.7 40.2 6.1 3.3 5.3 62.34
=< 40CH 199 16.6 286 43.2 75 1.5 25 63.14
50CH 100 21.0 29.0 33.0 7.0 2.0 8.0 66.30
Me 243 18.5 32.9 34.6 6.6 25 49 65.37
=] A7|/01% 475 17.9 30.3 37.9 6.1 21 5.7 64.79
x|t 71 28.2 22.5 423 14 14 42 69.49
OjAt/ 2ot 3 33.3 0.0 33.3 0.0 33.3 0.0 50.00
JNI=FS| 279 17.6 31.9 38.7 5.7 0.7 5.4 65.81
ThO /M H| A X 50 14.0 30.0 42.0 6.0 6.0 2.0 60.20
231/0)& A 17 23.5 23.5 29.4 11.8 5.9 5.9 62.50
_ e A 62 24.2 21.0 37.1 9.7 0.0 8.1 66.23
oe IEZEE 158 10.1 33.5 443 5.1 3.8 3.2 60.62
SHA 118 24.6 36.4 254 4.2 17 76 71.10
=B 19 10.5 36.8 42.1 5.3 0.0 5.3 63.89
7| E} 89 32.6 18.0 337 5.6 4.5 5.6 68.15
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H 3 M5 =AF 2t

<E3-2-37> 1@ NHE _ XS0 2%

(Base: A, Tt %, &)

o2 azx | B2 logos| ma

Mas | by | 2w | =s | R oy an | oom)
A 790 24.9 449 26.1 11 29 0.0 71.96
b =k 383 28.7 436 23.5 1.0 3.1 0.0 7343
°= oM 407 214 46.2 28.5 1.2 2.7 0.0 70.58
20LCH 248 30.6 427 22.2 0.8 3.6 0.0 73.99
of a4 30CH 244 213 504 26.2 04 1.6 0.0 72.34
=< 40CH 198 19.7 455 30.3 15 3.0 0.0 69.32
50CH 100 30.0 36.0 27.0 3.0 4.0 0.0 71.25
ME 243 27.6 436 23.9 2.1 29 0.0 72.74
A Z7|/21H- 473 22.2 46.3 275 0.8 3.2 0.0 70.88
x| gt 71 33.8 40.8 239 0.0 14 0.0 76.41
oA/ 28t 3 33.3 33.3 33.3 0.0 0.0 0.0 75.00
AR E] 278 223 50.0 227 14 3.6 0.0 7149
THOj/ M H| AR 50 14.0 40.0 42.0 2.0 2.0 0.0 65.50
235}/0| =% 17 294 41.2 23.5 0.0 5.9 0.0 72.06
1 Of AE 62 323 33.9 29.0 3.2 1.6 0.0 72.98
e s ES= 158 15.8 46.8 335 0.6 3.2 0.0 67.88
SHAH 117 35.9 453 16.2 0.9 1.7 0.0 78.21
=P 19 211 474 316 0.0 0.0 0.0 72.37
7|E} 89 36.0 36.0 247 0.0 34 0.0 75.28
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H 3 M5 =AF 2t

7) M2LH

OH

H &= Al 7HE S5 st ®

O MSMUsE L& Al 71 S8 nefote ® : E2d@3.5%)
- BT d@3.5%) > O|HaE|d > A2t > =F/88 > g >AATA

O B2/ : 30CH(49.0%) > 40CH{(47.2%) > 20CH(39.2%) > 50LH(33.0%)

<348 3-2-7> MEOISA LE Al 7P S8 nejst H

(Base: ™A, £t2: %)

/ 60.8%
54.1% noann

28.39% 31.8%
24.6%
2.0%
0.3%
olgHe|d Al 2te| ot A XHE
<H 3-2-38> MBS UE Al 71 F26HA nz{st ® _ 1=
(Base: A, THR: %)
2 M3 = X1 8
s | B2 | g | THET | oam | 2HY | ahe
| 798 435 28.3 104 12.9 46 0.3
o kA 387 447 243 10.3 15.0 5.2 0.5
= o M 411 423 32.1 10.5 10.9 41 0.0
20C| 250 39.2 23.6 144 17.2 5.6 0.0
o 24 30C§ 249 49.0 31.3 9.2 76 24 0.4
=< 40CH 199 47.2 29.1 8.0 12.1 3.5 0.0
50CH 100 33.0 31.0 8.0 17.0 10.0 1.0
K= 244 41.0 254 11.9 164 49 0.4
. A7|/91% 481 46.2 28.9 104 10.0 44 0.2
x| et 70 35.7 314 5.7 214 5.7 0.0
Oj At/ 2 S et 3 0.0 100.0 0.0 0.0 0.0 0.0
JNI=ES| 282 45.0 30.1 8.9 124 3.2 0.4
ThOj /M H| AR 50 50.0 18.0 20.0 8.0 40 0.0
23}/0]| %A 17 294 11.8 294 294 0.0 0.0
x4 g A 62 484 24.2 8.1 8.1 9.7 16
T SESC] 159 44.0 37.7 6.3 75 44 0.0
ShAY 118 38.1 22.0 16.9 17.8 5.1 0.0
=R 19 36.8 26.3 15.8 10.5 10.5 0.0
7| E} 91 418 26.4 5.5 20.9 5.5 0.0
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H 3 M5 =AF 2t

<H 3-2-39> MSOIZE WE Al 1% 5281 123 & _1+22%

(Base: TH|, TH2|: %)

2 M3 =7 X1 9

ne | M2y | g | REE | EE, | ema | B3R
| 798 54.1 60.8 24.6 31.8 12.7 2.0
e kA 387 53.7 59.9 22.0 354 124 26
c= ofM 411 54.5 61.6 27.0 28.5 12.9 1.5
20CH 250 50.0 57.6 26.8 37.2 11.2 24
o o4 30CH 249 64.3 63.5 26.1 24.9 104 16
=< 40} 199 55.3 62.8 21.6 28.6 14.1 1.0
50CH 100 37.0 58.0 21.0 420 19.0 40
Ne 244 52.5 58.6 24.2 37.3 13.1 2.5
g Z7|/2eH 481 56.5 63.0 24.9 27.0 12.7 1.9
X|et 70 443 51.4 243 457 10.0 14
Oj A/ 2 S et 3 333 100.0 0.0 33.3 33.3 0.0
AFRE] 282 55.7 63.1 19.1 31.2 13.1 14
TR/ A{H| A R 50 60.0 60.0 32.0 26.0 12.0 2.0
B23}/0| &=l 17 471 23.5 47.1 58.8 11.8 5.9
<o HE 62 516 58.1 258 258 16.1 8.1
e TS ES=] 159 54.1 68.6 23.3 22.6 14.5 0.6
SHAY 118 52.5 55.9 32.2 37.3 93 17
DA 19 52.6 57.9 26.3 36.8 15.8 0.0
7|E} 91 51.6 56.0 24.2 44.0 9.9 2.2
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MU BIEE Y HYE/EH o

H 3 M5 =AF 2t

0ot

Mot o2 QHESICH= oA : 77.8% (RS 15.9% + BHE 61.9%)
|4 - 84.4% (FLEA| CHA| HE 24.3% + CHA| &E 60.1%)
O| : 77.7% (HtEA| =H 17.9% + Z=H 59.8%)

o
=13
=

(Base: ™H|, TH2|: %)

A

i

|2, 73.407]

[HYHUSE, 73.15H]

I
ra
lo

(Base: ™A, TH2|: %)

o o i

sa | g | ows | ws | ogus | JMT 52
pabs| 797 15.9 619 21.2 0.9 0.1 73.15
A 1 kA 387 15.2 63.6 204 0.5 0.3 73.26
c= oM 410 16.6 60.2 22.0 12 0.0 73.05
20CH 250 18.0 59.6 216 0.8 0.0 73.70
of a4 30CH 248 14.1 64.1 20.6 0.8 04 72.68
=< 40CH 199 131 66.3 20.1 0.5 0.0 72.99
50CH 100 21.0 53.0 24.0 2.0 0.0 73.25
ME 244 15.6 63.9 19.3 1.2 0.0 73.46
HZ=x| Z7]/21H 480 15.8 613 22.1 0.6 0.2 72.97
NS 70 18.6 60.0 214 0.0 0.0 74.29
0| A/2SE 3 0.0 333 333 333 0.0 50.00
=R 281 15.3 68.0 16.7 0.0 0.0 74.64
oHof/ A | A E] 50 8.0 66.0 24.0 2.0 0.0 70.00
231/0=% 17 11.8 70.6 17.6 0.0 0.0 73.53
o At of 62 17.7 54.8 25.8 0.0 16 7177
= S 159 164 57.9 239 19 0.0 72.17
Sl 118 21.2 60.2 16.9 1.7 0.0 75.21
2 19 0.0 68.4 316 0.0 0.0 67.11
7|E} 91 17.6 51.6 29.7 11 0.0 7143
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H 3 M5 =AF 2t

<H 3-2-41> XU2 o|E

(Base: TH|, TH2|: %)

HF = Hi2 i b |
Nt | e R 2B | GO Lt (100%)
Ls o
aES| 799 243 60.1 146 0.9 01 76.88
pepe =G 388 19.8 65.2 13.9 1.0 0.0 75.97
= ol g 411 285 55.2 153 07 0.2 7774
20c} 250 17.6 60.8 18.8 24 04 73.20
o 24 30cH 249 261 60.6 133 0.0 0.0 7821
=< 40cH 200 285 63.0 85 0.0 0.0 80.00
50cH 100 280 51.0 200 1.0 0.0 76.50
Ng 244 26.6 611 10.7 1.2 04 78.07
g A7|/91H 481 24.9 59.3 15.4 04 0.0 7718
x|t 71 12.7 634 211 2.8 0.0 7148
0| A/2 & 3 0.0 333 66.7 0.0 0.0 5833
AL2E| 283 233 66.8 9.9 0.0 0.0 78.36
ohoj/ A H| A X 50 24.0 54.0 220 0.0 0.0 75.50
23}/0) &% 17 412 41.2 17.6 0.0 0.0 80.88
o PRk 62 226 59.7 17.7 0.0 0.0 76.21
R HYFER 159 314 53.5 14.5 0.6 0.0 78.93
St 118 144 63.6 16.1 5.1 038 7140
23 19 15.8 737 10.5 0.0 0.0 76.32
7|Et 91 275 50.5 220 0.0 0.0 76.37
<H 3-2-42> FH o|F
(Base: A, THel: %)
HiC =~ b |
s | G5 | oww | ms mmew FH 52
A 798 17.9 59.8 204 1.8 01 7340
e e 387 14.7 62.5 209 16 03 7248
°F oy 411 209 57.2 200 1.9 0.0 74.27
20cH 250 12.0 60.4 252 24 0.0 70.50
o o4 30cH 249 221 58.2 189 04 04 75.30
=< 40cy 199 18.1 633 16.6 20 0.0 7437
50cH 100 220 55.0 200 3.0 0.0 74.00
Mg 244 19.3 63.5 143 29 0.0 74.80
R 87|/213 481 183 574 233 08 0.2 73.18
x| gt 70 114 64.3 214 29 0.0 71.07
O|A/2SE 3 0.0 333 333 333 0.0 50.00
A2 % 282 209 63.5 14.9 07 0.0 76.15
Thoj/ A H| A E] 50 4.0 64.0 280 4.0 0.0 67.00
2ap/0|&% 17 235 64.7 118 0.0 0.0 77.94
o AR 62 16.1 58.1 24.2 0.0 16 7177
e Y Es 159 239 52.8 220 13 0.0 74.84
IR 118 12.7 59.3 24.6 34 0.0 70.34
23] 19 53 737 211 0.0 0.0 71.05
7| Ef 91 15.4 56.0 24.2 44 0.0 70.60
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H 3 M5 =AF 2t

3. ME2LHIS3A JHM 2ot

1) MELIS A UE Al E28 Al

0%

O MEMSE &2 Al 2EARE "HAZ[(VHA, OHYd &) 32.9%
- H2|(32.9%) > ZYULY O|E(21.2%) > HAS-S(110%) > T2 =X >

O SHAtE 'H2{2|" : 40CH(37.5%) > 30CH(35.3%) > 20CH(30.4%) > 50CH(23.5%)

<d% 3-3-1> M2Oi38 UE Al EH A (55

0l0

=)

MHI

LN B

[EEN
o

24

(Base: FA||, n=800, EtQ|: %)
I

/\Ol
= T

(Base: ™|, £H2|: %)

%TLEI e yHSANE = %ﬂ(: o 2 %I’c‘ég =K at s3]

| S8 (e ols| ey |2am R BB 21082 ojg & st | Emw

28| el |mzet) 25 |2 TE ST e
A 797 | 329 [ 212 [ 110 [ 85 [ 39 | 34 [ 29 | 16 | 36 | 109
e A 389 [ 332 [ 198 [ 103 | 85 | 54 | 36 | 31 | 13 | 41 | 108
°= oy 408 | 326 | 225 | 118 | 86 | 25 | 32 | 27 [ 20 | 32 | 110
20t 250 | 304 | 276 | 104 | 84 | 36 | 32 | 32 | 04 | 40 | 88
o 30cH 249 [353 [ 225 [ 120 [ 76 | 44 | 24 | 16 | 28 | 28 | 84
=< 40 200 [ 37.5 [ 150 [ 135 [ 90 | 25 | 45 | 25 | 10 | 50 | 115
50LH 98 | 235|143 ] 92 [102 ] 61 [ 41 [ 61 [ 31 | 20 | 214
NE 243 325 | 247 ] 91 [ 86 [ 37 [ 29 [ 25 | 04 | 25 | 132
7z | Z7|/91H [ 480 [ 335 [ 181 [ 123 | 83 | 38 | 38 | 31 | 23 | 46 | 102
N R[4 71 | 296 | 310 | 99 | 85 [ 56 | 28 | 28 | 14 | 14 | 70
ola/2ger [ 3 [333] 00 [ 00 [333[00 | 00| 00| 00| 00 | 333
JNEEN 283 | 346 | 170 [ 117 | 88 | 46 | 32 [ 25 [ 21 | 39 [ 117
orof/MB[AX | 50 | 320 [ 280 | 100 | 60 | 20 | 60 | 40 | 00 | 60 | 60
2o/ojzx | 17 | 412 | 176 | 118 [ 118 | 59 [ 59 [ 00 [ 00 [ 00 | 59
ot | Atee] 62 | 206 | 177 | 81 [ 161 | 48 | 32 | 48 | 16 | 32 | 177
S opgze [ 158 | 316 [ 234 [ 114 | 76 | 32 | 32 | 32 | 25 | 38 | 101
ShA 118 [ 339 [ 271 [ 136 | 59 | 34 | 42 | 17 | 00 | 25 | 76
2 19 [ 263 [ 368 | 53 [ 158 [ 105 [ 53 | 00 | 00 | 00 | 00
7|Et 9 [356|189] 89 [ 67 [ 22 [ 11 [ 44 [ 22 [ 44 [ 156
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H 3 M5 =AF 2t

<H 3-3-2> NS U2 A BH AE _1+229 7|
(Base: ™A|, Et2|: %)
HAHZ| QL (&
(714, HEXN|HE = x|, FRHE E£49
At | ChFd A)e| |27 | QLY X} 0|8 = 7|Et |SHet
S) & L33t 25 | 5)9 H HAs
A 25
A 797 | 483 225 | 267 | 79 3.8 60 | 217
o Lk 389 | 455 208 | 275 | 82 33 57 | 231
c= o 408 | 51.0 240 | 260 | 76 42 64 | 203
20cH 250 | 49.2 204 | 244 | 88 0.8 6.8 | 264
of 24 30CH 249 | 494 257 | 305 | 88 48 52 | 157
=° 40Cy 200 | 535 210 | 265 | 6.0 6.0 70 | 190
50CH 98 | 327 224 | 235 | 71 41 41 | 306
M 243 | 527 202 | 251 | 78 29 53 | 235
ZA7|/91H 480 | 46.7 242 | 288 | 69 4.2 69 | 213
x|et 71 | 451 19.7 | 169 | 155 42 28 | 183
OjAl/2 St 3 333 00 | 66.7 | 0.0 0.0 00 | 333
A2 E| 283 | 484 216 | 272 | 85 46 60 | 205
hof/AMHE|AX | 50 | 54.0 240 | 220 | 6.0 20 | 120 | 140
23}/0]|& & 17 | 647 294 | 294 | 118 0.0 59 | 176
<o A 62 | 339 177 | 355 | 48 32 | 32 | 290
e Py B 158 | 48.1 266 | 253 | 95 5.7 63 | 158
SHA 118 | 52.5 229 | 237 | 59 0.0 34 | 305
Dz 19 | 474 211 | 368 | 105 0.0 53 | 15.8
7| E} 90 | 467 189 | 256 | 7.8 5.6 78 | 256
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H 3 M5 =AF 2t

2) MSUISH W XISZY L AlZHIEE
O MSTHB AN K58 SA| f3t Y42 Mmep,
7V ARIH(73.07%) > 7HE ME(L82E) > JHK| S X2 80|(68.81%)

Ot

O MBS0l 0|8 AlZHo]| Ciet H+E HmHEH
74 HE(75.068) > Al 22| H(74.94F)

<38 3-3-2> M2 WY XE5Y A M2 UFE

71.82 73.07 68.81
# 0 DLt
JFCt
. 41.6%
48.1% 47.2% 54.6% 53.9%
BS
27.6% " ABA B
25.5% 23.1%
21.1% 21.2%
e 4.0% e 4.4% -8.3% 1.0% 1.19 B QK| @t
HHHE M ZHE IR AZEEE Azt ete|H
X=

<E 333> MSOIBY U NS Y A7 BEE

o x| B | g
LS

A 795 220 48.1 255 4.0 04 71.82
A 1 =i 388 22.9 48.5 24.0 4.6 0.0 7242
c= oo 407 211 47.7 27.0 34 0.7 71.25
20CH 249 249 494 225 2.8 04 73.90
of e 30CH 248 21.8 49.6 23.8 4.0 0.8 71.88
=° 40CH 200 20.5 44.5 30.0 5.0 0.0 70.13
50CH 98 184 48.0 28.6 51 0.0 69.90
MNE 243 255 49.0 22.2 33 0.0 7418
HER| A7|/21H 478 211 45.8 28.0 4.4 0.6 70.61
x| gt 71 16.9 60.6 183 4.2 0.0 72.54
oj A/ 2 SE 3 0.0 33.3 66.7 0.0 0.0 58.33
A2 Z 283 19.8 534 23.0 3.9 0.0 72.26
oHoj /A H| A E 50 20.0 40.0 32.0 6.0 2.0 67.50
23/0| =2l 17 11.8 52.9 23.5 11.8 0.0 66.18
x| ot s 61 213 44.3 32.8 1.6 0.0 7131
= U 157 24.2 43.9 28.0 25 13 71.82
Sl 117 30.8 504 171 1.7 0.0 77.56
2= 19 5.3 474 36.8 10.5 0.0 61.84
7| E} 91 209 41.8 29.7 7.7 0.0 68.96
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H 3 M5 =AF 2t

<# 3-3-4> MEUSH W XIE2=Y A Mz HFEE _ 0|82 FHE

(Base: TH|, TH2|: %)

.| me azx | B¥ | ma

MAT | agr | B R8N Tgn | 22| oom)
A 792 25.0 47.2 23.1 44 0.3 73.07
e LA 386 244 50.0 21.0 47 0.0 73.51
c= of M 406 25.6 446 25.1 4.2 0.5 72.66
20CH 249 31.3 38.6 25.3 438 0.0 74.10
o 24 30Cy 247 22.3 51.4 21.9 4.0 0.4 72.77
=< 40CH 200 22.0 51.0 22.5 45 0.0 72.63
50CH 9 21.9 51.0 21.9 42 1.0 72.14
MNe 241 27.8 473 21.2 3.7 0.0 74.79
K] 471/ 477 23.9 478 23.1 48 04 7248
x| gt 71 23.9 437 28.2 4.2 0.0 71.83
OjAl/ 2 S et 3 0.0 33.3 66.7 0.0 0.0 58.33
JNE=E. 282 22.0 56.0 184 3.5 0.0 7411
Thof/ A H| A K| 50 28.0 28.0 38.0 6.0 0.0 69.50
231/0|& % 17 11.8 58.8 23.5 5.9 0.0 69.12
o e 61 24.6 475 21.3 6.6 0.0 72.54
HE T SES] 156 26.9 417 25.0 5.1 1.3 71.96
ShAY 117 34.2 427 20.5 2.6 0.0 77.14
D 19 10.5 421 36.8 10.5 0.0 63.16
7| Ef 90 23.3 44.4 27.8 44 0.0 71.67

=2 HIE X|=2At

(Base: TH|, TH|: %)

o =4 ﬁa:l i
s | qhe, | awe |msoict| TEH g e
LS
A 791 21.7 416 27.6 8.3 0.8 68.81
o kA 386 24.9 38.9 28.5 7.3 0.5 70.08
c= o] M 405 18.8 442 26.7 94 1.0 67.59
20CY 249 20.5 38.2 29.3 10.8 1.2 66.47
o124 30C| 246 26.0 39.0 28.5 6.5 0.0 71.14
=° 40} 200 20.5 450 25.5 8.0 1.0 69.00
50CH 9 16.7 50.0 25.0 7.3 1.0 68.49
Me 242 20.7 434 27.3 7.9 0.8 68.80
S ZA7|/011 475 20.8 423 27.2 9.1 0.6 68.42
x| et 71 31.0 324 29.6 5.6 14 71.48
OjAb/E2Ct 3 33.3 0.0 66.7 0.0 0.0 66.67
JNI=EN 282 22.3 46.8 26.2 43 04 71.63
Thof/ M H| A X 50 24.0 30.0 28.0 16.0 2.0 64.50
23}/0| &=l 17 23.5 235 52.9 0.0 0.0 67.65
o e 61 29.5 24.6 31.1 14.8 0.0 67.21
oe T SESZ] 156 18.6 442 26.9 10.3 0.0 67.79
S} 117 19.7 40.2 24.8 13.7 17 65.60
=R 19 15.8 31.6 474 5.3 0.0 64.47
7| E} 89 22.5 46.1 24.7 45 2.2 70.51
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H 3 M5 =AF 2t

<H 3-3-6> MBOIZE L XIE2Y O A|IZH HSE X138t A|ZHe

[

Huy

(Base: TH|, TH2|: %)

o 4 He m

s | G| awe | =son | 22X 3% A
A 793 23.3 54.6 21.1 1.0 0.0 75.06
i LA 387 22.5 55.3 21.2 1.0 0.0 74.81
c= ol M 406 24.1 53.9 20.9 1.0 0.0 75.31
20CH 249 26.1 48.6 233 2.0 0.0 74.70
o124 30Cy 246 244 55.7 19.5 04 0.0 76.02
=< 40CH 200 19.5 60.5 19.0 1.0 0.0 74.63
50CH 98 214 55.1 23.5 0.0 0.0 74.49
MNe 243 247 55.6 19.3 04 0.0 76.13
] ZA7|/01H 476 23.1 54.0 21.8 1.1 0.0 74.79
x| et 71 21.1 56.3 19.7 2.8 0.0 73.94
OjAl/ 2 S et 3 0.0 333 66.7 0.0 0.0 58.33
AFRLE] 282 20.9 62.1 16.3 0.7 0.0 75.80
ThON/ A H| A X 50 20.0 46.0 30.0 40 0.0 70.50
23}/0| & A 17 294 52.9 17.6 0.0 0.0 77.94
o A A 61 23.0 475 29.5 0.0 0.0 73.36
e T SESE] 157 22.9 54.8 22.3 0.0 0.0 75.16
ShAY 117 30.8 496 17.9 1.7 0.0 77.35
o x| 19 15.8 474 316 5.3 0.0 68.42
7| E} 90 244 489 25.6 1.1 0.0 7417

<H 337> M2OIZE U NS W AIZ HEE _ 0|8 AlZte| Bral X

r

(Base: ™A, TH2|: %)

Mg
. | me . a2%x| ; e
MEls | gy | e | =S| oo ile; %Ef' ey
A 792 236 53.9 21.2 11 0.1 74.94
A LA 387 245 527 217 0.8 03 75.13
c= ol M 405 227 55.1 20.7 15 0.0 74.75
20} 249 24.9 48.6 253 0.8 04 74.20
o124 30CH 246 26.8 537 183 1.2 0.0 76.52
=e 40T} 200 20.5 61.0 17.5 10 0.0 75.25
50Cy 97 186 53.6 25.8 2.1 0.0 72.16
NS 242 256 55.0 19.0 04 0.0 76.45
S A7|/91H 476 233 53.8 214 15 0.0 7474
x| gt 71 197 52.1 254 14 14 71.83
N 3 0.0 333 66.7 0.0 0.0 58.33
JYEEY 282 227 58.5 18.1 0.7 0.0 75.80
O/ A H| A X 50 22.0 54.0 18.0 6.0 0.0 73.00
231/0] & ] 17 294 529 17.6 0.0 0.0 77.94
o X 61 24.6 45.9 29.5 0.0 0.0 73.77
SE P ET] 156 224 54.5 218 13 0.0 74.52
SHAY 117 28.2 51.3 20.5 0.0 0.0 76.92
ox| 19 10.5 474 36.8 5.3 0.0 65.79
7|E} 90 24.4 48.9 244 11 11 73.61
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3) MSdl= HYE Al7]

O d=st= MYE Al7]
tEH
O AZE a0l g=

<12l 3-3-3> MS

40.8%

7t= EHE(40.8%)

ot

rir

g

Ho

H 3 M

Mol (E5

s

olo

ZAF Z1t

IS (40.8%) > A A£H10](25.5%) > S(H%E)(20.9%) > 5&(7.2%) >
: 40CH(30.5%) > 30CH(28.6%) > 50CH(21.4%) > 20CH(20.1%)

=)

(Base: MA||, &

9l %)

1.4%

O &/H= 7| Ef

(Base: ™A, TH2|: %)

(=] IL H Jn 531 ?'_Io ==
s | IEES aratgol 2ER e el e

- LER S e =e5
HA| 795 40.8 25.5 20.9 7.2 43 14
o LA 387 38.5 30.2 18.9 7.8 2.8 1.8
©= o] M 408 429 211 22.8 6.6 5.6 1.0
20CY 249 434 20.1 24.9 3.2 5.2 3.2
o124 30CH 248 35.5 28.6 21.0 11.3 3.2 04
=° 40CH 200 425 30.5 15.5 5.5 5.5 0.5
50CH 98 439 21.4 214 10.2 2.0 1.0
M 244 443 254 19.7 6.6 3.7 04
A= | ZA7|/H 478 39.5 26.6 203 7.1 44 21
x| x| gt 70 37.1 20.0 28.6 8.6 5.7 0.0
OjAt/2 St 3 33.3 0.0 33.3 33.3 0.0 0.0
JNI=FS| 282 418 27.0 18.8 9.2 2.8 04
ThOj /M H| A K| 49 40.8 24.5 26.5 2.0 4.1 2.0
§+/O1|A7<I 17 47.1 17.6 23.5 11.8 0.0 0.0
ol X 62 35.5 30.6 22.6 6.5 3.2 16
e JEER 158 39.9 26.6 19.0 76 5.7 13
SHAY 117 38.5 214 25.6 43 7.7 26
2z 19 316 15.8 36.8 10.5 5.3 0.0
7| E} 91 46.2 25.3 16.5 5.5 33 33
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H 3 M5 =AF 2t

4) 0{E/7{E YE 2lM
O &2 MEUSHES OS/A20 E= 2l :60.0% (A CHH| +5.4%)
- 40T} (66.8%) > 50CH(66.3%) > 30CH(56.0%), 20CH(56.0%)

O YE A7t &2 HE: 2, 400, ME, A

<13 3-3-4> {2/ WE oA}

(Base: |, THel: %)

EH(61.0%) > 0 /4(59.0%)

40CH(66.8%) > ... > 20~30CH(56.0%)
ME(61.6%) > A7|/21H(59.7%) > ...
XIHAH(68.9%) > AFRZE(63.2%) > ...

Mo
ox
Ho
1o
>

<¥ 3-3-9> 0§ E/4 b

(Base: ™A, TH2|: %)

At QLCt eict

A 792 60.0 40.0

o A 387 61.0 39.0
°° oy 405 59.0 410
20CH 250 56.0 440

o 24 30CH 248 56.0 44.0
=< 40CH 199 66.8 33.2
50CH 95 66.3 337

ME 242 61.6 384

AP 471/91H 477 59.7 403
e 70 55.7 443

0 d/28H 3 66.7 333

N 280 63.2 36.8

ZHOf/ MBI A 50 58.0 420

=3/ =& 17 58.8 412

x/of e 61 68.9 311
- e 157 58.6 414
St 118 53.4 46.6

23 19 474 52.6

7| Et 90 58.9 411
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H 3 M5 =AF 2t

5) 0{& H|7| M= OJHIE

O Ol Hl7|0) TAMCH TS A &2 O[HE
1 0l&0 Ofzel= AEOHME(Z=0l, 25=0| 8) (54.9%)
[ 30CH(64.5%) > 40CH(55.8%) > 20CH(48.0%) > 50CH(46.4%) |

O 20| 5(54.9%) > 2 &l £(37.6%) > Ot @ 2{(27.9%) > S+E& HAZH= >

<13 3-3-5> O{Z H|$7| M3 OHE (55 S

0 = — —_— =
“ (Base: MK, THL|: %)

0l0

=Tl
54.9%
37.6%
27.9% 25.8% 26.0%
11.7%
. 2.1%
|
==0|, g = Ozt = 2 2 1829 205 7|E}
=3=0l & HON O|HE Hed=z s2*AZ JolE FQ
<H 3-3-10> O § H|7| = O[HIE (5= 38H)
(Base: ™A, £t2: %)
= S| A = i
aod il a2 oz way w Hy ey 5
= ofm e | EIOEHE o] HIE (of | 7 = (HX} =
OMIE| " o = 1429 F|0| = £0f
At ?E 0|, (%E o] | S=¥ 'CT')_ 2| I'I:lé’ %_l%l ;"E OE*‘“-& 7|E}
a0 |[SE XK EH, ; =. B BoE =T 0T T
=) /83) |H A3 E78)
HA| 792 54.9 376 27.9 25.8 26.0 117 2.1
. ==, 385 50.1 40.5 27.5 218 27.8 106 2.6
c= oy 407 59.5 349 283 29.5 243 12.8 1.7
20cy 250 48.0 32.0 524 22.8 22.8 7.2 2.0
of 24 30CH 248 64.5 35.5 16.1 25.8 27.0 19.8 2.0
=e 40cy 197 55.8 46.2 15.2 31.0 315 8.6 2.0
50CH 97 46.4 40.2 20.6 22.7 20.6 9.3 3.1
Mg 244 56.6 36.1 24.2 30.7 24.6 14.3 1.6
A A7|/01 476 55.9 387 28.6 24.2 25.6 10.1 2.5
T x| 8t 69 43.5 37.7 37.7 20.3 333 13.0 14
OjAl/2 2t 3 333 0.0 0.0 0.0 333 333 0.0
NN 281 53.7 38.1 19.6 26.0 28.5 14.6 2.1
Ty /A H| A E 50 48.0 38.0 42,0 16.0 22.0 40 4.0
=21/0f = & 17 58.8 70.6 294 23.5 35.3 5.9 0.0
X1 O R R 60 483 45.0 300 183 30.0 3.3 1.7
B B 156 69.2 308 17.9 314 26.9 16.0 13
SHAY 118 52.5 28.0 55.9 28.0 24.6 8.5 1.7
23| 19 26.3 421 526 316 10.5 5.3 0.0
7|E} 91 50.5 484 19.8 22.0 19.8 12.1 44




H 3 M5 =AF 2t

6) MEBLHIS 0| Z3=0{0F & F22| HH
O MEUSHO| dF0jor e o g4 'Yt s=s =2+ U S
- CHYol 5=(584%) >> F4(14.3%) > Z=t8 A > SEE/AHT > YE{1S

o
O CtYst 5= : 30C1(62.2%) > 40CH(61.3%) > 20CH(57.0%) > 50LCH(46.5%)

<17 3-3-6> MESOIZ 0| ZF0j0F B WA 47 (52 8T

(Base: TH|, £H2|: %)

W29 14229

J 70.0%

58.4%
44.3%
32.7%
14.3% 12.6%
m =
T
cheret $4] cheret 7|}
3= =2t 3¢

crrst 58T HE AN crore gy BER7| S|HUHE 4
A2 | 8 8 2 9| f T | zeo) gal| ERE M ESOL) o

e T i - T ] ol

o= I |_|' EI

A 796 584 14.3 12.6 7.5 6.8 04
. =M 387 59.2 15.0 12.7 7.2 59 0.0
c= oA 409 57.7 137 125 7.8 7.6 0.7
20CH 249 57.0 116 124 14.5 4.4 0.0
of e 30CH 249 62.2 12.0 13.3 4.4 7.2 0.8
=° 40CH 199 61.3 13.6 11.1 4.5 9.0 0.5
50CH 99 46.5 283 14.1 4.0 7.1 0.0
MNE 245 52.7 184 12.7 8.2 7.3 0.8
Hz=x| 4a71/e1H 480 61.3 12.7 12.9 6.7 6.5 0.0
T NS 68 58.8 10.3 10.3 11.8 74 15
0| A/2SE 3 66.7 333 0.0 0.0 0.0 0.0
A2 Z 283 58.0 16.3 12.7 4.9 74 0.7
E 2SS 50 60.0 6.0 16.0 8.0 10.0 0.0
231/0=2%! 17 41.2 118 176 176 11.8 0.0
<1 Of X|—o 61 59.0 19.7 18.0 16 16 0.0
o= =R 158 58.9 15.2 12.0 3.8 9.5 0.6
Sl 117 59.0 111 6.8 18.8 43 0.0
ox| 19 421 211 211 15.8 0.0 0.0
7|E} 91 63.7 11.0 12.1 7.7 5.5 0.0




H 3 M5 =AF 2t

<E 3-3-12> MSOIBY0| Z30{0F B F20| ¥F (52 3B _1+28¢

(Base: TH|, TH2|: %)

croret 52T A8 Aoy ng BEH] SUY 4
Mels |28 8+ 9|t EE o) @ay| ES RE | W BR0L | 5p

= 3l M= Lty = zg |* ARSt=| MHE = S

° 3 © 7| |

A 796 70.0 443 327 225 18.8 11
i L 387 69.8 463 341 19.9 17.3 0.5
c= oy 409 70.2 425 313 24.9 203 17
20CH 249 69.5 394 32.5 394 10.8 0.4
o 24 30CH 249 73.1 40.2 337 15.7 229 1.2
=° 40cy 199 704 52.8 30.7 13.6 246 1.0
50LH 99 62.6 50.5 343 15.2 17.2 3.0
Ne 245 68.6 49.8 282 22.0 18.8 24
S A7|/91H 480 71.0 433 35.0 21.0 19.6 04
x|t 68 67.6 324 309 35.3 14.7 15
ojA/2SEt 3 66.7 333 66.7 0.0 0.0 0.0
AFRE] 283 67.1 46.6 339 14.8 216 0.7
THOW/ M H| A X 50 72.0 28.0 42.0 34.0 20.0 0.0
235}/0) =X 17 47.1 64.7 17.6 35.3 235 0.0
o AR 61 721 63.9 311 9.8 18.0 16
o= PIZS BN 158 741 44.9 310 17.1 20.9 1.9
SHAM 117 70.9 35.9 274 49.6 8.5 0.9
2 x| 19 52.6 52.6 52.6 211 10.5 0.0
7|E} 91 75.8 374 33.0 20.9 20.9 2.2
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7) MELISH 2 _ (1)

O MM oH 3=
f

— L=
25 2

= =4

=1

o

=

H 3 M5 =AF 2t

d2 282 dMEZD A 7H) (44.8%)

- 22101 AM(44.8%) > & 0| X|(21.5%) > X|2IATJ > SNS > AMZ2/HE

[
O 22t A

: 30CH(49.6%) > 40CH(48.7%) > 20LCH(44.2%) > 50CH(26.5%)

<13 3-3-7> M2I3E WL 85 F= (52 39
/ (Base: ™A, £t2: %)
44.8%
21.5%
18.1%
13.5%
9.7%
3.7% L
[ |
=22t M3 ol A7 M3 el - 7|E}
M 1| 0| X| SNS
<HE 3-3-13> MEMSd EH &5 42 (35 %)
(Base: ™A|, Et2|: %)
229 d | MEUS x|9l0| MEUHS |42 o uy
Al (M(EED| Y 00| .+.I_7H 2 SNS(m| | === ©|  7|E}
2 7HH) [ X/2EQ olAF & °
A 794 448 215 18.1 9.7 3.7 13.5
A A 386 430 225 19.2 7.5 47 14.0
c= oM 408 46.6 20.6 17.2 11.8 2.7 13.0
20CH 249 44.2 141 27.3 18.9 2.8 10.0
o a4 30LCH 248 49.6 25.0 16.5 7.3 2.0 93
= 40CH 199 48.7 26.1 8.0 3.0 5.0 18.6
50CH 98 26.5 224 194 6.1 7.1 224
ME 243 46.1 22.6 19.3 7.0 3.7 13.2
HER| 47|/e1H 477 42.8 214 17.0 10.7 34 14.5
NS 71 535 19.7 22.5 12.7 4.2 8.5
OjA/28Et 3 66.7 0.0 0.0 0.0 33.3 0.0
NS 281 49.8 28.1 14.2 6.4 43 10.7
O/ A H| A E 49 429 16.3 16.3 184 2.0 10.2
231/0) &= 17 52.9 11.8 23.5 0.0 0.0 17.6
. e 62 35.5 17.7 16.1 8.1 3.2 29.0
e JIMEE 157 44.6 19.7 134 7.6 3.2 17.2
SHAM 118 39.0 16.9 28.0 21.2 0.8 9.3
22Xl 19 31.6 21.1 36.8 5.3 10.5 5.3
7|E} 91 46.2 17.6 23.1 7.7 6.6 13.2
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H 3 M5 =AF 2t

7) MSCISH & _ (2) Z3tx(ojof & A5 4t
O M2US 0| 0| 8HZut 285 ?I3l O L=tx[0foF & &5
: SNS (44.3%) > ZT|O|X|(24.5%) > 221 (12.5%) > NZ40| A2|(2.7%)
O O|8A S| 285 ?ldH Z=te/ofof & 2F+Th2 2 200 ~300= SNSE

40T ~50CH = =HO|X|= MEH

<17 3-3-8> ZElo{of ¥ A8 25

J (Base: ™A, £t2: %)

44.3%
24.5%
12.5% 14.6%
|
M2U3s¥ MN2OS3 ANZ2OSH 9| Ag| 7|E} 0E
SNS = 0| X| g21 (BAM/SH)
<HE 3-3-14> Z3lE|0jo} & A8 45t
(Base: TX||, ©H2|: %)
P E] 7o Ag
SNS(H[0] [MSIH2 Y| MSIHB Y| (VOC) HA
M | mola | Zuox) | 221 K o gy JIF | =SRH

E}1 5) AbM B A%
A 792 443 245 125 2.7 14 14.6
A Lk 387 41.6 23.0 15.5 2.8 1.8 15.2
c= ol 405 46.9 25.9 9.6 25 1.0 14.1
20CH 249 66.3 12.0 3.2 2.8 0.8 149
o 24 30CH 248 44.4 26.6 14.5 0.8 0.8 129
=< 40CH 199 29.1 32.2 20.1 1.5 25 14.6
50CH 96 18.8 35.4 15.6 94 2.1 18.8
N 242 38.8 314 12.0 3.7 2.1 12.0
ey a7|/91: 476 473 21.2 12.2 25 1.1 15.8
x| gt 71 43.7 225 15.5 0.0 14 16.9
oA /286 3 33.3 33.3 33.3 0.0 0.0 0.0
AR Z 282 35.1 32.6 16.0 2.1 0.7 13.5
ohoj/ M H| AR 50 50.0 12.0 14.0 40 2.0 18.0
—.—2}/O1| =Xl 17 70.6 5.9 5.9 0.0 5.9 11.8
x| o1 ] 60 36.7 26.7 233 1.7 3.3 8.3
E P‘" =4 157 40.8 28.7 10.2 25 0.0 17.8
SHAM 118 74.6 10.2 3.4 0.8 0.0 11.0
2z 18 61.1 5.6 0.0 11.1 0.0 22.2
7|E} 90 333 23.3 13.3 5.6 5.6 189
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H 3 M5 =AF 2t

8) 0|3 Al =21 2+&Z7| L EX

H

O MSMs&E 0|83tH =2 2&37|0f Ciet 5 42 H,
- X[ Ql3t 27H|(80.43) > 7Al/EE(7557H) > us 5X(67.178)

O MESHSHES 0| 8otH =2l Bi=0f T
2 ZHX7F UACH78.25F) > B =

rlo
[
N
%0
n
J
(@)}
(0)e]
o
@

- =
o

<12 3-3-9> 0|8 Al 71 BBEJ| YEE

(Base: ™A, THl: %, &)
80.43 67.17 75.57 76.80 78.25
= 0 =0t
aEct
38.8%
51.3% 55.1% 0 2S
o 53.5%
31.8% mAZA B
17.6% Ay = a1 o
18:3% 16.09 mHS X UC
12:1% 0.5% B 86% s 3y 6 o450 0% 055 ke | &C}
Xoloteh g2  mA/Ed EARCE  7HK] ULk

<H 3-3-15> O|£ A| b7l 2= 7| U E| =

(Base: A, Tt %, &)

e

2 o 2 = 3% = g

MA% | qhT | 2weh | =sont| o2 = -c-ll!:? e
A 796 34.8 526 12.1 0.5 0.0 80.43
o LhA 388 322 52.8 147 03 0.0 79.25
c= ol M 408 373 52.5 96 0.7 0.0 81.56
20y 249 337 49.8 15.7 0.8 0.0 79.12
o124 30ry 250 344 53.2 12.0 04 0.0 80.40
=S 40C} 199 37.2 57.3 5.0 05 0.0 82.79
50CH 98 337 49.0 17.3 0.0 0.0 79.08
NS 245 359 52.2 11.0 0.8 0.0 80.82
S #7|/91H 477 34.0 53.5 122 04 0.0 80.24
x|at 71 38.0 47.9 14.1 0.0 0.0 80.99
OjA/2 S5t 3 0.0 66.7 333 0.0 0.0 66.67
AFELE 283 33.2 54.8 117 04 0.0 80.21
IHOH /A H| A ] 49 306 429 24.5 2.0 0.0 75.51
235}/0] 2 X 17 41.2 52.9 5.9 0.0 0.0 83.82
o A 62 35.5 50.0 14.5 0.0 0.0 80.24
B P ET] 158 36.1 54.4 9.5 0.0 0.0 81.65
A 118 38.1 483 11.9 17 0.0 80.72
2x 19 316 63.2 5.3 0.0 0.0 81.58
7|Ef 90 344 53.3 12.2 0.0 0.0 80.56
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H 3 M5 =AF 2t

<H 3-3-16> 0|8 A| L7 2357 L B _ng SHS 2o}

(Base: A, Tt %, &)

mjo
)

= s Y | g
s | e | 2o | =msog | TEH % A
LS
| 789 20.0 38.8 31.8 8.6 0.8 67.17
i kA 385 18.7 39.2 32.7 8.3 1.0 66.56
c= of M 404 213 384 30.9 8.9 0.5 67.76
20C| 249 23.7 33.3 30.9 11.2 0.8 66.97
o124 30Cy 248 17.7 444 30.2 73 0.4 67.94
=° 40Cy 199 16.6 39.2 36.2 7.0 1.0 65.83
50CH 93 23.7 37.6 29.0 8.6 11 68.55
Ne 243 20.2 37.0 32.5 9.1 1.2 66.46
S A7|/01H 473 19.7 40.6 30.2 8.9 0.6 67.44
x| et 70 22.9 32.9 38.6 5.7 0.0 68.21
Oj At/ 2ot 3 0.0 33.3 66.7 0.0 0.0 58.33
AFELE] 284 20.1 419 30.6 6.7 0.7 68.49
TR/ A{H| A R 49 184 34.7 34.7 12.2 0.0 64.80
23}/0)| & A 17 5.9 235 64.7 0.0 5.9 55.88
o A 59 15.3 254 458 13.6 0.0 60.59
e T SESZ] 156 20.5 417 30.1 6.4 1.3 68.43
ShAY 118 26.3 39.0 20.3 13.6 0.8 69.07
DA 18 11.1 44.4 33.3 11.1 0.0 63.89
7| E} 88 19.3 36.4 36.4 8.0 0.0 66.76
<HE 3-3-17> 0|8 A L7 #&S7| L Ef= _ g S HYS 26
(Base: M|, THel: %, &)
e X g o
s | P | 2w | mso | A 2| (oo
FA| 792 27.5 51.3 17.6 33 0.4 75.57
o kA 385 25.2 53.2 18.2 29 0.5 74.94
c= o 407 29.7 494 17.0 37 0.2 76.17
20L} 248 32.7 456 16.9 44 0.4 76.41
o124 30L| 248 22.2 57.3 16.5 3.2 0.8 74.19
=° 40CH 200 26.0 53.5 17.5 3.0 0.0 75.63
50CH 96 31.3 458 21.9 1.0 0.0 76.82
Ne 244 31.1 4838 17.2 29 0.0 77.05
S ZA7|/01% 475 25.3 53.1 17.5 3.6 0.6 74.68
x| et 70 30.0 486 18.6 29 0.0 76.43
OjAb/BSEt 3 33.3 33.3 33.3 0.0 0.0 75.00
AFELE| 284 25.7 56.3 14.1 3.9 0.0 75.97
ThOj /M H| A R 49 30.6 429 26.5 0.0 0.0 76.02
23}/0)& 16 37.5 31.3 25.0 6.3 0.0 75.00
o e 60 283 51.7 20.0 0.0 0.0 77.08
e T SESZ] 158 22.8 50.6 20.3 5.7 0.6 7231
SHAY 118 33.1 475 15.3 4.2 0.0 77.33
=By 19 10.5 68.4 15.8 0.0 5.3 69.74
7| E} 88 34.1 455 19.3 0.0 1.1 77.84




H 3 M5 =AF 2t

o x = =
(Base: TA|, THl: %, H)
AT (B o< J8cC HEQ|C X :ﬁﬁt da
A 793 26.2 55.1 18.3 04 0.0 76.80
A B =i=) 385 20.5 579 21.3 0.3 0.0 74.68
°= oM 408 31.6 525 154 0.5 0.0 78.80
20CH 249 29.7 514 189 0.0 0.0 77.71
of a4 30CH 248 24.6 58.5 16.5 04 0.0 76.81
=° 40LCH 200 23.0 61.0 15.0 1.0 0.0 76.50
50CH 96 28.1 43.8 28.1 0.0 0.0 75.00
N 243 28.0 531 18.1 0.8 0.0 77.06
HZX| d71/e1H- 477 24.5 57.2 18.0 0.2 0.0 76.52
x| gt 70 314 48.6 20.0 0.0 0.0 77.86
O|Al/2S ey 3 333 333 333 0.0 0.0 75.00
AFD] 284 229 595 16.9 0.7 0.0 76.14
ThO /A H| A E] 49 245 51.0 245 0.0 0.0 75.00
23}/0| =% 17 35.3 471 17.6 0.0 0.0 79.41
<1 O A 59 27.1 525 20.3 0.0 0.0 76.69
Se e 158 266 532 196 06 0.0 76.42
SHAH 118 37.3 475 15.3 0.0 0.0 80.51
2=l 19 21.1 52.6 26.3 0.0 0.0 73.68
7| E} 89 21.3 60.7 18.0 0.0 0.0 75.84
<H 3-3-19> 0|8 Al LY 27| L ElE _HE2 7HX| AS
(Base: MK, Tt %, H)
MY
A o < a3X| g
s |ty | 3w | esont| Tgol | 3wN | O3
A 793 30.0 535 16.0 0.5 0.0 78.25
e S 385 26.2 55.1 18.2 0.5 0.0 76.75
o= ol A 408 336 52.0 14.0 05 0.0 79.66
20CH 249 33.3 494 16.9 04 0.0 78.92
o a4 30CH 248 25.8 58.9 14.9 04 0.0 77.52
= 40LCH 200 28.0 58.0 13.5 0.5 0.0 78.38
50CH 96 36.5 40.6 21.9 1.0 0.0 78.13
NE 244 31.1 51.6 16.4 0.8 0.0 78.28
HZ=x| A7|/918 476 28.6 55.0 16.2 0.2 0.0 77.99
x| gt 70 35.7 50.0 129 14 0.0 80.00
OjAl/2SEf 3 333 333 333 0.0 0.0 75.00
AFEE| 284 26.8 58.1 13.7 14 0.0 77.55
THOY/A{H| A X 49 28.6 46.9 24.5 0.0 0.0 76.02
251/0| 2 Xl 17 412 412 176 0.0 0.0 80.88
o e 60 30.0 46.7 233 0.0 0.0 76.67
Bl e 158 29.1 55.1 15.8 0.0 0.0 78.32
SHAM 118 39.8 45.8 144 0.0 0.0 81.36
22X 19 211 63.2 15.8 0.0 0.0 76.32
7|E} 88 295 545 15.9 0.0 0.0 78.41




H 3 M5 =AF 2t

9) El RAAIM/SH H| _ (1) o|2 &Y
O Et RYUAIA/B2 018 Z¥ D2 : 741%
_ 40CH(79.6%) > 30CH(78.5%) > 50CH(76.8%) > 20CH(64.3%)

O dd B2 o JE: oy, 400, M=, =&

<38 3-3-10> Ef FAAE/SH 0|88

(Base: ™A, £t2: %)

OfM(78.0%) > H/4(69.9%)
40CH(79.6%) > ... > 20CH(64.3%)
ME2(764%) > 7|/ H(T74.7%) > ...

FE(78.3%) > 23/0|=2l(76.5%) > ...

<H 3-3-20> E} SYUA|AM/2S 0|2AH

(Base: TH|, TH|: %)

Azl g Sfs 2 i
HA DY
| 790 74.1 25.9
A gd 386 69.9 30.1
°= of 4 404 78.0 220
20cy 249 64.3 35.7
o o4 30CH 246 78.5 21.5
=< 40CH 196 79.6 204
50CH 99 76.8 23.2
M= 242 76.4 236
HZx| 47|/21H 475 747 253
WNES 70 61.4 38.6
O d/28H 3 66.7 333
AFRE| 279 75.3 247
THOH/ A H| A ] 49 73.5 26.5
=2}/ =2 17 76.5 235
ol S 62 74.2 25.8
o pirSEST] 157 78.3 21.7
Sl 117 65.0 35.0
23 19 789 211
7|E} 90 733 26.7
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9) E} RAA|M/SH H[L _ (2) 71 Bt5

H 3 M5 =AF 2t

oh

FAIA

}

42 QUAY/BY T I UES Ba : OHBE(S53%)

- 20CH(64.2%) > 50LCH(61.1%) > 30CH(55.2%) > 40CH(43.4%)

O 20CH : Ol {24 = (64.2%) > S+ZH-Z9I(15.7%), 30CH : Ol|{ 2H =(55.2%) > TF&HEH12.0%)
40CH : Of|B{2H S (43.4%) > TFSHRH(23.7%), 5SOCH : Ot 2HE(61.1%) > SHZH22(9.7%)

<38 3-3-10> Ef FAAE/SH 0|88

s (Base: ™A, £t2: %)

55.3%

- 3.7% 2.1% 2.1% 1.9%
- |

< A R < < R D <
\8?}// A\{/o\/(‘J /)\/)\6% Q/\O)/ 0’2\/3‘// Q/%%\/ /’,_ﬂ\ AN
N el &7 % » Q) A~
» 63/\/

<E 3-3-20> E} S8A|4/3¢ 0|22

(Base: ™A, TH2|: %)

M o HEAE sze zyac Meus) AT 5ixsm| g

+ et 3
Pabs| 575 | 553 12.7 9.6 3.7 2.1 2.1 1.9 12.7
¥ L 264 | 572 13.6 95 34 0.8 15 0.4 13.6
°= oy 311 | 537 11.9 96 3.9 3.2 2.6 3.2 11.9
20CH 159 | 64.2 44 15.7 5.7 0.0 13 0.6 8.2
o 24 30CH 192 | 55.2 12.0 6.3 2.6 31 42 3.1 13.5
=° 40CH 152 | 43.4 23.7 7.2 33 33 13 2.6 15.1
50CH 72 | 611 9.7 9.7 2.8 14 0.0 0.0 15.3
R 182 | 538 9.3 13.7 44 0.5 4.4 2.7 11.0
— A7|/91H | 349 | 576 14.3 7.2 34 3.2 1.1 17 11.5
x| et 43 | 419 14.0 116 2.3 0.0 0.0 0.0 30.2
ojAl/28Et | 1 | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JNE=ES) 206 | 553 13.6 7.3 2.9 1.5 2.9 24 14.1
mhof/MHE|A | 35 | 629 2.9 14.3 2.9 0.0 0.0 0.0 17.1
Ssl/olax | 13 | 462 154 30.8 0.0 0.0 0.0 0.0 7.7
lon puRe:fer 45 | 60.0 15.6 44 44 6.7 0.0 0.0 8.9
= JbMZEE | 122 | 443 14.8 49 41 49 41 49 18.0
SHAY 75 | 653 5.3 187 8.0 0.0 0.0 0.0 2.7
=P 15 | 66.7 0.0 13.3 0.0 0.0 6.7 0.0 13.3
7|E} 64 | 563 20.3 109 16 0.0 0.0 0.0 10.9
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H 3 M5 =AF 2t

9) E} FHAIE/SH H|ZZ _ (3) oi{H=

O 7Hs B A2 ‘O H{HE'S MeE 120 DI} : (107 BHE) -0.39%
- A MBC126T), $T-231%) ; M FHH(+L65T), RE(+021F)

<3dg 3-3-11> Ef FAAME/SE _OHFHE

(Base: E} FRAIE/SH 0|8 BHA Bl H)

HHUE (@) | MSCHS (b) | Xto| (b-a)
H| = (Product) 7.64 6.38 -1.26
712 (Price) 5.46 7.11 +1.65
S E(Place) 7.52 7.73 +0.21
Z Xl (Promotion) 7.75 544 -2.31
Z=SHEA|) 7.08 6.69 -0.39
HE 74
SH/AE 818 - gmac FAE MY ——— e
=213 SEREE (a1 S ) SEREL

8.23
7:74 2
B M3
o o
TR ng 22 £8)
=
G- =z
HZ 8old s oHEE [/p/EH - = Off EH 2H
o rnie]

Matsd  xze wzx 784 e

o M
e

7.98

=2X|T 9
Alg 3|

8.14 771 7.69
A/ AN/

— oL/& oL/&

HolAd oj % TE)
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9) El RAAY/SA H|E _(4)

O 7td & A= ‘=gt
- @M M=(-0.348), 7+4(-0.067),

HM=E

shap ME

H 3 M5 =AF 2t

Mol H{mE7t: (10 2H=F) -0.05%H
21(-0.28%) | M 73(+0.347)

Al 3|

[=] =1 =
(Base: Ef FRIAIE/SH 0|8 BHHAL Bl H)
bt @) | MEOSH (b) | XHO| (b-a)
X| = (Product) 771 7.37 -0.34
7} A (Price) 742 7.36 -0.06
S E(Place) 7.95 8.28 +0.34
Z Xl (Promotion) 6.75 6.47 -0.28
ZSHEA) 7.44 7.39 -0.05
o= 7 4

SH/HE

HolAl 4

1
=
-

| Ink4

FAE MY
(255

1%
e

- == 33
g

AFE XY
(0lg=)
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H 3 M5 =AF 2t

9) El RAHAH/SH H|L _ (5) siz3

O 713 BHE AlMZ '$IZ3 9 Mes 20| B|DY}: (10T BHE) +0.20%
- QM 7H(-004%), FT(L00E) ; M : MBE(+124%), R5(+0.527%)

<13 3-3-13> E} SA|E/3H _sdZH

(Base: Ef REIAIL/BE 018 ZEAL B9l F)

SHYSHE @ | MECUSH B) | %HO] (b-a)

X| & (Product) 5.80 7.04 +1.24

7} (Price) 6.73 6.69 -0.04

S E(Place) 7.33 7.85 +0.52

Z Xl (Promotion) 6.40 540 -1.00

ZSSHEA) 6.58 6.79 +0.20

HE 74
——-ZSH ===ty SE
S3/H2 FAE MY o
Z2IH MEtSH (MEH|) S
6.84 5.92
1.76
ASE

SeA 2% 2233 g N e

HolAlE
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H 3 M5 =AF 2t

9) El RA|M/3¥ H|nl _ (6) ROIRE=

O 7V BHE A2 'ROYCS’ MEf3 D20| H|DBT}: (10 BHE) -0.42%

O ="

- M MZ(-047H), 7&8(-0227), £T(-2.868) ; FAl : 7tE(+1.758)

<13 3-3-14> E} §A|Md/Ee _ EHECc

(Base: E} SAA|M/2L 0|8 AEX}, CHY: &)

ROEE=E (@ | MEUSH B) | %H0] (b-a)
X| & (Product) 6.86 6.39 -0.47
712 (Price) 475 6.49 +1.75
S E (Place) 7.60 7.38 -0.22
Z Xl (Promotion) 7.86 5.00 -2.86
ZSHEK) 6.73 6.31 -042
HE 74
-==RHEE
ZH/HE | FRE MY g T XHE

ok |n
[#0

L=

Mets# (nE

HI)

D2H

FHAA g X 2)

%_Tl_/%i 7.84 ---%E‘”%E
B Metsd

8.00

ZX|T 9

Al &7 7.74 8.00
/24 Z2n/=H
O | L&
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ol 52 2 =7
4) Ciosst

6) 7IEK
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A2-1 [A29] 1 ST S WSt THE 5 25 0fdt 0107 QUOAH SfTEls 280 25
LIS
1) OI3SH7A Olsh) Ofzloler &7 w2 2) =SS ofzIojet BT we

3 oiE 2=

3. KO3l BEL HOSIAlE B2 F2 SaUl
D 20l 242 2 71=Ee R, Aol Aoz
3 elelolLt H7e| AR 4 &2 % EHEY 5) 71t ( )

A 25 M2OZ2D 27 LHS0| F4-2 aafsiold 30| Qo MLTp? QICHH, MC|CIX| PFHECZ
Hof FUA2 (Of. oHAE, THE =2 dsta, ool shztzd 7IZ7HE 2 24 39 &)

1 U8 ( ) a8
A5, 2 P w2t mo = gl (29 ZE &

A6. 2= MEUIS20| €257 25 0[8oH 0|8 £HE FoUULIT BF HEGIFHAIZ

1 RS 2) X|opE/H 3) Al
4H EH 5) AHEA 6) ZIEL ( )

A7, 25 MEUZEHN HES4 AZE2 HEA ZULIR

1) 2AIz¢ 02 2) 2A|7} ~ 4A|7F
3) 4A|7 ~ BA|Z 4) 6A|7t OAk
A8 25 MSThBR LoIM XSS 32 55 QORI of 2

[ET] « A o4 ¥ YAR T AZ 0128, JIUE, HF 5 47, HSFH, AY Tz M 5

Ag. oM 2= MEdigd Ul Mes=2 Hl AZF & C2e| 258 2Ot shEaslige
Eot g 4 A ol M MR OfEA EHuUur 2 2SEE CEEe HI20)S| ©o]

(=]
1000| S|E= GiA[2F 20| EOTAAL.
AIZHHIS 00)
=z = | = P
= S o A1 (@3 HA As s 2o A
: A7t s Yst= HE AZHEIE
1) 52 2zt EE % %
2) S MEjEZE| | | % %
3) Mg | 2 %) % %
4) 0{2lo|=0|E | 15 %1 % %
6) A WAF el . 15 %, % %
7) 7|EK ) : : % 9%
| | 100 % | 100 % 100 %

- 96 -



AL0. M2THRY AlE 5 529 9| Z7 WEsle HAS IS5 MHSiZMAIR.
1) HIOZtE Zo| 2) HOPLE KHE0|sE2H 3) EEYZETEIEN ==
4 AASE A=A 6) S0t
7 NEJE 7|2 tet 9 7IEf ( )
All. FEPHME ME2SS UM SEE2] EEf8dHs| 7t 2EE| 0 QCk= A2 ¥ ARUIRE
1) €3 9t - All-1= 2) EECf = B12 2
[Z0] + APEFEF &2 B FZ0], &, 0RI0LES, 722 E
Al11-1. [A112] 1 SEANH FSPHME EElEEHEIE fET AR0| QoMU AFTHIOHE oH
238 BHEA BF HESiFUAIL.
= 2 7|2 3) 00§
4) AR} 5 Yatmz|els0| 6) 272
7) =E0| 8 =¢t 9) zr&h A= gtk
= 1) ~ 8) 2= All1-22 / 9) 2% = B Part=2
* [EEFIE Ee HA] 21125 M20is@ S8 WEjEHs NsE B4l T 3EE| FHAL
Al11-2. [A11-1°] 1~8 SEAMN “MEj 230 § B2t E2 SN
1) MEf HHE| AlZE 2= ARSAF 250] 23 FojlM S20] Cist 0lop|E EdiFE E20t
2) (%= AZHO| AR HEE S =S G2 55 €20 AV 5= o3 =70t
3) OE Sk £33 M6 Z200
4) TIo| o E7[A AR HOE 3|2 FrRliE(QIoH S0
5) =AY dEf 23N 2 Tt
6) 7IEK )
B. ME2L{SH 0|30 CH5Ho] TESsE=AlR
Bl. MEM=Z&E 0|85HH 7l Fodn 2k, sie oo 278 AL
Ha
- e R | -2 | o] 2ok
ITE == L =] = = oL O
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